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The modes of heat transfer in a simple gas-fired process.
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Properties of a typical natural gas from the North Sea and of its stoichtometric
products of combustion
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Caompes e % by volumen:

CH, C.H, CHy CH, CsH, €O, N,

94 4 3.22 0.6 0.2 0.07 0.05 1.46

Sroperta

Cvgross 38.69 x 10¢ J m=3(s)
CVoe 34.91 x 106 J m-3(s)
Density pe® 0.719 kg m-3(s)
Alr/fuel ratio A, 9.76 m3(s) m-3(s)
Combustion product/fuel ratio P 10.785 m3(s) m-3(s)
Adiabatic flame temperature 2220 K

Combustion product composition t S¢ by volumer:

CO; H.0 N,
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The incident and leaving fluxes at a surface element.
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The emissivities of combustion products containing carbon dioxide and water
in the ratio 2:1. (After Hadvigd.)
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Effect of preheating the air in combustion (Mg=30 kg/r)
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SWGG for one clear+two gray gases
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SWGG for one clear+two gray gases
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SWGG mode! for one clear+two gray gases
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SWGG for one clear+two gray gases
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temperature distribution in each zone
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In 3 zones rotary fumace if Tair =300K
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In 3zores rotary fumace if Tair =500K
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Effect of excess air in Qair (Mg=30 kg/hr. Ta=400K)
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Rate of Fuel (kghr)
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In Szones rotary furnace if Tair =600K
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Dicrease fuel consumption {Ta =6000K)
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Influence the ‘wai emissivity on rate of fuel
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The thermal properties of furnace instalation materials.
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Properties of a typxcal natural gas from the: Nonh Sea and of its stonchxometnc
products of combustlon S

Compasition (% by volume):

CH; CHg CiHg C4Hypy GCsHp CO, N
944 322 0.6 0.2 0.07 0.05 1.46

Property:

CVgross 38.69 x 106 T m-3(s)
CV ey 3491 x 106 I m-3(s)
Density p® 0.719 kg m-3(s)
Air/fuel ratio R, 9.76 m3(s) m-3(s)
Combustion product/fuel ratio P, 10785 o m3(s) m-3s)
Adiabatic flame temperature 2220 K

Combustion product composition (% by volume):

CO, H,0 N,

“<

9.627 18.753 71.617
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Polynomial coefficients for the specific enthalpy of some metals
Units J kg-!

Ferrous metals
Polynomial Mild steel Mild steel 18/8 Austenitic
coefficient 0-800°C > 800°C . stainless steel
a -0.81997E+04 -0.394790E+06  -0.7058E+04
b 0.54145E+03 0.18757E+04 0.4801E+03
c -0.7122E+00 ~1.18137E+00 0.1562E+00
d 0.3444E-02 0.37703E-3 -0.4365E-04
e -0.5628E-05 - -
f 0.3405E-08 - -
g poy _ —

Noa-ferrous metals

Inconel 601 Aluminium Copper
a 0.666E+04 -0.1394E+05 -0.5673E+04
b 0.442E+03 0.9263E+03 0.3773E+03
c 0.1345E+00 0.2091E400 0.06245E+00
d - -0.3758E+03 « -0.6568E-05
e - 0.66583E-06 -0.6332E-07
f - -0.4253E-09 0.7952E-10
g - - -0.30E-13

AF



Polynomial coefficients for thermal conductivity (A)

CUnits W m—1K-1

Polynomial
coefficient

QO o Q o Q0o

m A0 on

Ferrous metals
Mild steel
Q - 800°C

0.519059E+02
—0.369417E-03
—0.768098E-04
—0.811310E-08
0.212134E-09
—0.180744E~12

Mild steel
> 800°C

0.302492E+02
~0.155686E-01
0.144759E-04
—0.982726E-08
0.159948E-10
-0.936461E-14
0.148732E-17

Non-ferrous metals

Inconel 601

0.110000E+02
0.168000E-01

Refractortes and insulating maierials

Ceramic fibre

0.82297E-01
~0.14283E-03
0.95429E-06
-0.81346E-09
0.38894E-12

Aluminium

0.207725E+03
0.161262E+00
~0.459894E-03
0.282840E-06

Insulating fire
brick

0.34166735E-CG0

0.71161834E-04
—0.3412567EL07

0.3240756E-10C

18/8 Austenitic
stainless steel

0.148397E+02
0.946518E-02
0.137840E-04
—0.924956E-08

Copper

0.385186E+03
~0.481482E-01

Dense rerractory
brick

The densities of some common materials

Stamicess stegl
Incone; 601
Aluminium
Copper
Ceramic fibre
Insulatng brnick
Dense brick

* Typical values only: density of these materials can varny widely.

S0
[NARIY)
2698
8930
12507
RRO *
2600 *

AV
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Table A2.1 Polynomial coefficients for specific heat (C,)
Units J kg~1K-!
Ferrous metals
Polynomial Mild steel Mild steel Mild steel 18/8 Austenitic
coefficien 0 - 750°C 750 - 900°C > 900°C stainless steel
a 0.439389E+03 0.960497E+04 0.595783E+03 0.480000E+03
b 0.927605E+00 0.311055E+02 0.809290E+00 0.312400E+00
9 —0.892667E-02 —0.821919E-01 -0.172302E-02 ~{.130950E-03
d 0.427170E-04 —0.996642E-05 0.113957E-05 -
e —0.823237E-07 —0.291067E-08 —0.946037E-10 -
f 0.617737E-10 0.166675E-09 —0.762604E-13 -
g —0.885174E-14 —0.112167E~-12 - -
Non-ferrous metals
Inconel 601 Aluminium Copper
a 0.442000E+03 0.926288E+03 0.377273E+03
b 0.269000E+00 0.418140E+00 0.124909E+00
c - —0.112759E-02 -0.197052E-04
d - (.266327E-(S —0.253276E-06
2 - —0.212654E-08 0.397578E-0%
f - - —{.180032E-12
Refructories and insulating materiak
a 0.100164E+04
b 0.1383E+00
c —0.458133E-04

AA




reiis [3L5 zolan aulne (gl oud allgh aslp o5 -7

%ofor combustion natural gas with 20% excess air
% upper is for 2 grey gas plus one clear gas
Rin=input('inter Rin(m) ;');
Rout=input(‘inter Rout(m) ;');
H=input('inter H(m) ;");
%K=input('inter K ;');
%B=input('inter B ;");
RI=Rout;
R2=Rout;
B1=(Rout-Rin);
B2=(Rout-Rin);
R=Rout/Rin;
t=H/Rin;
kg=1.88;
pC=1./(1+2+3.76*2)
pH=2./(1+2+2*3.76)
pt=pC+pH;
K=kg*pt;
A=t"2+R"2+1;B=t"2-R"2+1;
Al=pi*Rout"2;A2=A1;
A3=2*pi*Rout*H;
n=0;
n1=0.1;n2=1000;
for i=n:0.1:10
1=1+1
end
b= eps:p1/1000:pi;
% numerical integration for calculate s1s2jo(R1,R2,H)
s1s1=0; s2s2=0 ;5454=0;
bl= eps:p1/1000:pi;
r1=2*R1*sin(b1./2);
ml=(rl *2+H"2);
P1=R1"2*(pi-(b1)-sin(b1)).*sin(b1l);
s1=(2*R1*R2*H"2)*(P1).*(exp(-K*(sqrt(r1."2+H"2)))./(m1.72));
z1 =trapz(bl.sl);
wl=zl;

f = fenchk(funfen);
if nargin < 4 | isempty(tol), tol = 1.e-6; end;
if nargin < 5 | isempty(trace), trace = 0; end;

% Initialize with three unequal subintervals.

h = 0.13579%(b-a);
x = [a a+h a+2*h (a+b)/2 b-2*h b-h b];

A8



v = feval(f, x, varargin{:});

fent = 7;

% Fudge endpoints to avoid infinities.

if ~isfinite(y(1))
y(1) = feval(f,a+eps*(b-a),varargin{:});
fent = fent+];

end

if ~isfinite(y(7))
y(7) = feval(f,b-eps*(b-a),varargin{:});
fent = fent+1;

end

% Call the recursive core integrator.
hmin = eps/1024*abs(b-a);
[Q(1),fent,wamn(1)] = ...
quadstep(f,x(1),x(3),y(1),y(2),y(3),tol,trace,fcnt,hmin,varargin{:} );
[Q(2),fent,wam(2)] = ...
quadstep(f,x(3),x(5),y(3),y(4),y(5),tol,trace,fcnt,hmin,varargin{:} );
[QQA),fent,wam(3)] = ...
quadstep(f,x(5),x(7),y(5),y(6),y(7),tol,trace, fcnt,hmin,varargin{:});
Q = sum(Q);

wam = max(wam);

switch wam
case |
warning(‘'MATLAB:quad:MinStepSize', ...
'Minimum step size reached; singularity possible.")
case 2
wamning('MATLAB:quad:MaxFcnCount', ...
'Maximum function count exceeded; singularity likely.")
case 3
warning('MATLAB:quad:ImproperFcnValue!, ...
'Infinite or Not-a-Number function value encountered.")
otherwise
end

function [Q,fent,wam] = quadstep (f,a,b,fa, fc,fb,tol trace,fent,hmin, varargin)
%QUADSTEP Recursive core routine for function QUAD.

maxfent = 1000;

% Evaluate integrand twice in interior of subinterval [a,b].
h=b-a;
c=(a+b)2;
ifabs(h) <hmin|{c==a|c==b
% Minimum step size reached; singularity possible.



Q = h*fc;
warn = 1;
return
end
x =[(a+c)/2, (c +b)/2];
y = feval(f, x, varargin{:});
fent = fent + 2;
if fent > maxfent
% Maximum function count exceeded; singularity likely.
Q = h*fc;
wam = 2;
return
end
fd=y(1);
fe=y(2);

% Three point Simpson's rule.
Q1 = (W6)*(fa + 4*fc + fb);

% Five point double Simpson's rule.
Q2 = (W12)*(fa + 4*fd + 2*fc + 4*fe + fb),

% One step of Romberg extrapolation.

Q=0Q2+(Q2-Q1)15;

if ~isfinite(Q)
warn = 3;
return
end
if trace
disp(sprintf('%8.0f %16.10f %18.8e %16.10f fcnt,a,h,Q))
end

% Check accuracy of integral over this subinterval.
if abs(Q2 - Q) <= tol

warn = 0;

retum

% Subdivide into two subintervals,

else
[Qac,fent,warnac] = quadstep({,a,c,fa,fd,fc,tol trace,fcnt,hmin,varargin{:} );
[Qcb,fent,warncb] = quadstep(f,c,b, fc,fe,fb,tol trace,fent,hmin,varargin{:} );

Q= Qac + Qcb;
warn = max(warnac,wamcb);
end
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>>
% numerical integration for calculate s1s2|o(R1,R2-B2,H)

b2= eps:pi/1000:p1;

r2=2*R 1*sin(b./2),

m2=(r2.72+H"2);

P2=R1"2*(pi-(b2)-sin(b2)).*sin(b2);
s2=(2*R1*(R2-B2)*H"2)*(P2).*(exp(-K*(sqrt(r2.*2+H"2)))./(m2./2));
72 = trapz(b2,s2);

say3=atan(B2/H);

b3=eps:say3/1000:say3;
$3=(2*pi*(R2-B2)"2)*sin(b3).*cos(b3).*exp(-K*H./cos(b3));
23 = trapz(b3,s3);

w2=z2+z3;

% numerical integration for calculate s1s2jo(R1-B1,R2,H)
b4= eps:pi/1000:pi;

rd4=2*R 1*sin(b./2),

m4=(r4.”2+H"2);

P4=R 1"2*(pi-(b4)-sin(b4)).*sin(b4);
%t=acos(R1-R2.*cos(b4))./(r4)
%P4=R1"2*(pi-(b)-sin(b)).*sin(b);
s4=(2*(R1-B1)*R2*H)*(P4).*(exp(-K*(sqrt(r4.”2+H"2)))./(m4.2));
74 = trapz(b4,s4);

say5=atan(B2/H);

b5=eps:say5/1000:says5;
s5=(2*p1*(R1-B1)"2)*sin(b5).*cos(b5).*exp(-K*H./cos(b5));
z5 = trapz(b5,s5);

w3=z4+25;

% numerical integration for calculate s1s2jo(R1-B1,R2-B2,H)
b6= eps:pi/1000:pi;

r6=2*R 1*sin(b./2),

P6=R172*(pi-(b4)-sin(b4)).*sin(b4);

m6=(1r6."2+H"2); ..
s6=(P6).*(exp(-K*(sqrt(r6.”2+H"2)))./(m6."2));

z6 = 2*(R1-B1)*(R2-B2)*H"2*trapz(b6,s6);

say/=atan(2*B1/H);

b7=eps:say7/1000:say7;
s7=(2*p1*(R2-B2)"2)*sin(b7).*cos(b7).*exp(-K*H./cos(b7));
z7 = trapz(b7,s7);

wi4=z6+z7;

sls2=wl-w2-w3+w4;

sls2

s2sl=s1s2

b8= eps:pi/1000:pi;
r8=sqrt(R172+R2/2-2*R1*R2*cos(b8./2));
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P8=(R1)"2*(pi-(b8)-sin(b8)).*sin(b8);

m8=(r8.72+H"2);

s8=(P8).*(exp(-K*(sqrt(r8.72+H"2)))./(m8.72));

z8 = 2*(R1)y*(R2)*H"2*trapz(b8,s8);

s1s20=z8

% calculate s1s3 and s3sl in enclosure

% describing parameter in numerical integration

% for this geometry s1s3(R1,B1,R2,B2,H)=
%=s1s2|o(R1,R2,H)-s1s2|o(R1,R2,0)-s1s2|o(R1,R2-B2,H)+s1s2|o(R1,R2-B2,0)
%numerical integration for calculate sls3|o(R1,R2,H)

b9= eps:pi/1000:p1;

19=2*R 1*sin(b9./2);

u9=(2.*b9-sin(2.*b9)).*sin(b9);

m9=(19."2+H"2);
$9=u9.*((exp(-K.*19)./(19.74))-exp(-K . *sqrt(r9./2+H"2))./(m9./2));

z9 = (R1)"2*(R2)"2*trapz(b9,s9);

saylO=atan(H/(R1+R2));

b10=eps:say10/1000:sayl10;
s10=((2*pi*R1"2*R2/2/(R1+R2)"2)*sin(b10).*cos(b10).*exp(-K*(R1+R2)./cos(b10)));
z10 = trapz(b10,s10);

%numerical integration for calculate sls3jo(R1,R2-B2,H)

b1 1= eps:p1/1000:pi;

r11=2*R1*sin(b11./2);

ul1=((2.*b11)-sin(2.*b11)).*sin(b11);

ml1=(r11.72+H"2);
sl1=ull.*((exp(-K.*r11)./(r11.74))-exp(-K.*sqrt(r11.2+H"2))./(m11.72));
z11 = (R1)"2*(R2-B2)"2*trapz(b11,s11);

sayl2=atan(H/(R1+R2-B2));

b12=eps:say12/1000:say12;
s12=((2*p1*R1"2*(R2-B2)"2/(R1+R2-B2)"2)*sin(b12).*cos(b12).*exp(-K*(R1+R2-
B2)./cos(b12)));

z12 = trapz(b12,512);

s1s3=29+z10-z11-z12;

s1s3

s3s1=s1s3

%numerical integration for calculate sls3o

b13= eps:pi/1000:pi;

r13=2*R1*sin(b13./2);

ul3=((2.*b13)-sin(2.*b13)).*sin(b13);

m13=(r13.72+H"2);
s13=ul3.*((exp(-K.*r13)./(r13.%4))-exp(-K.*sqrt(r13.72+H"2))./(m13.%2));
z13 = (R17"2*R2"2)*trapz(b13,513);

sayl4=atan(H/(R1+R2));

bl4=eps:sayl4/1000:say14;
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sl4=sin(b14).*cos(b14).*exp(-K*(R1+R2)./cos(b14));

z14 = (2*pi*R1"2*R2"2/(R1+R2)"2)*trapz(b14,s14);

sls3o=z13+z14,

sls3o

F34=(1/R)-(1/(pi*R))*(acos(B/A)*(1/Q2*t))*(sqrt((A+2)"2-
(2*B)"2)*acos(B/(B*A))+B*asin(1/R)-(pi*A/2)));

b= eps:pi/1000:pi;

=2*R1*sin(b./2);

ss=exp(-K.*r);

zz=((A3*F34)*0.43);

s3s4=zz

7zzz=(A3*F34);

s4s3=s3s4

%F33=(sqrt(4*R"2+t"2))/t*asin(

% calculate gls2 and s2gl in enclosure

% describing parameter in numerical integration

% for this geometry gls2(R1,B1,R2,B2, H)=

% =gls2|o(R1,R2,H)-gls2|o(R1,R2,0)-g1s2|o(R1,R2-B2,H)+gls2|o(R1,R2-B2,0)-
% -gls2|o(R1-B1,R2,H)+gls2|o(R1-B1,R2,0)+gl1s2|o(R1-B1,R2-B2,H)-gls2|o(R1-
B1,R2-B2,0)

% numerical integration for calculate gls2|o(R1,R2,H)

b15= eps:pi/1000:pi;

r15=2*R1*sin(b15./2);

P15=(R1)"2*(pi-(b15)-sin(b15)).*sin(b15);
ul5=((2.*b15)-sin(2.*b15)).*sin(b15);

m15=(r15.22+H"2);

j1=((exp(-K.*r15)./(r15./3))-exp(-K. *sqrt(r15./2+H"2))./sqrt(m15.73));
f1=2*P15.*r15./2+ul5 *R1"2*R2"2;

z15=31.*f1;

ql15=K*(R1*R2)/2*trapz(b15,z15);

sayl6=atan(H/(R1+R2));

bl6=eps:say16/1000:sayl6;
s16=sin(b16).*exp(-K*(R1+R2)./cos(b16));

ql6 = (K*pi*R172*R272/(R1+R2))*trapz(b16,516);
ansl=q15+ql6;

% numerical integration for calculate gls2jo(R1,R2,0)
h=0;

b15= eps:pi/1000:pi;

r15=2*R1*sin(b15./2);
P15=(R1)"2*(pi-(b15)-sin(b15)).*sin(b15);
ul5=((2.*b15)-sin(2.*b15)).*sin(b15);
m15=(r15.72+h"2),
J2=((exp(-K.*r15)./(r15.13))-exp(-K.*sqrt(r1 5./2+h"2))./sqrt(m15.73));
f2=2*P15.*r15/2+ul5.*R1"2*R2"2;
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z15=)2.%12;

q15=K*(R1*R2)/2*trapz(b15,215);
sayl6=atan(h/(R1+R2));

bl6=eps:sayl16/1000:say16;
s16=sin(b16).*exp(-K*(R1+R2)./cos(b16));

ans2=0;

% numerical integration for calculate gls2/o(R1,R2-B2,H)
b17= eps:pi/1000:pi;

r17=2*R1*sin(b17./2);
P17=(R1)"2*(pi-(b17)-sin(b17)).*sin(b17);
ul7=((2.*b17)-sin(2.*b17)).*sin(b17);

m17=(r17.22+H"2);
13=((exp(-K.*r17)./(r17.73))-exp(-K.*sqrt(r17.22+H"2))./sqrt(m17.3));
£3=2*P17.%(r17./2)+ul 7 *R1"2*(R2-B2)"2;

z17=j3.*13;

ql17=K*(R1*(R2-B2))/2*trapz(b17,217);

sayl8=atan(H/(R1+R2-B2));

b18=eps:say18/1000:say18;
s18=sin(b18).*exp(-K*(R1+R2-B2)./cos(b18));

q18 = (K*p1*R172*(R2-B2)"2))/(R1+R2-B2))*trapz(b18,s18);

phil=abs(R2-B2-R1);
L1=eps:phil/1000:phil;
x1=exp(-K*L1);
ql19=trapz(L1,x1);
phi2=sqrt((R2-B2-R1)"2+H"2);
L2=H:(phiZ)/1000:phi2;
x2=(1-(H"2./L2)).*exp(-K*L2);
q20=trapz(L2,x2);
q21=(K*pi*R172)*(q19-q20);
ans3=q17+q18+q21,

% numerical integration for calculate gls2jo(R1,R2-B2,0)
phi3=abs(R2-B2-R1);
L3=eps:phil/1000:phil,
x3=exp(-K*L3);
q22=trapz(L3,x3);
phid4=abs(R2-B2-R1);
Ld=eps:(phi4)/1000:phi4;
x4=exp(-K*L4);
q23=trapz(L4,x4);
q24=K*p1*(R2"2)*(q22-q23);
ans4=q24;

% numerical integration for calculate gls2|o(R1-B1,R2,H)
b19= eps:p1/1000:pi;
r19=2*R1*sin(b17./2);

a0



P19=(R1)"2*(pi-(b19)-sin(b19)).*sin(b19);
ul9=((2.*b19)-sin(2.*¥b19)).*sin(b19);

m19=(r19./2+H"2);
J4=((exp(-K.*r19)./(r19.73))-exp(-K.*sqrt(r19./2+H"2))./sqrt(m19.73));
f4=2*P19.*(r19./2)+ul9.*(R1-B1)"2*(R2"2);

z19=14.*{4;

q25=(K*(R1-B1)*(R2))/2*trapz(b19,219);

say20=atan(H/(R1-B1+R2));

b20=eps:say20/1000:say20;
s20=sin(b20).*exp(-K*(R1-B1+R2)./cos(b20));

q26 = (((K*pi*(R1-B1)"2*R2/2))/(R1-B1+R2))*trapz(b20,520);

phi5=abs(R2-R1+B1);

L5=eps:phi5/1000:phi$;

x5=exp(-K*L5);

q27=trapz(L5,x5);

phi6=sqrt((R2-R1+B1)"2+H"2);
L6=H:(phi6)/1000:phi6;
x6=(1-(H"2./L6)).*exp(-K*L6);

q28=trapz(L6,x6);

q29=(K*pi*R1"2)*(q27-q28);

ans5=q25+q26+q29;

% numerical integration for calculate gis2jo(R1-B1,R2,0)
phi7=abs(R2-R1+B1);

L7=eps:phi7/1000:phi7;

x7=exp(-K*L7);

q30=trapz(L7,x7);

phi8=abs(R2-R1+B1);

L8=eps:(phi8)/1000:phis;

x8=exp(-K*L8);

q3 1=trapz(L8,x8);

q32=K*pi*(R2"2)*(q30-q31);

ans6=q32;

% numerical integration for calculate gls2jo(R1-B1,R2-B2,H)
b2 1= eps:pi/1000:pi;

r21=2*R1*sin(b21./2);
P21=(R1)"2*(pi-(b21)-sin(b21)).*sin(b21);
u21=((2.¥b21)-sin(2.*b21)).*sin(b21);
m21=(r21./2+H"2);
15=((exp(-K.*r21)./(r21.73))-exp(-K *sqrt(r21.72+H"2))./sqrt(m2 1.7 3));
f5=2*P21.*%(r21.72)+u21 *((R1-B1)"2*(R2-B2)"2);
z21=5.%f5;
q33=(K*(R1-B1)*(R2-B2))/2*trapz(b21,221);
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if nargin < 5, error('Requires at least five inputs'); end
if nargin < 6 | isempty(tol), tol = 1.e-6; end

if nargin < 7 | isempty(quad{), quadf = @quad; end
intfcn = fenchk(intfen);

trace = [];Q = zeros(size(y));
trace = [];
for i = 1:length(y)

Q(1) = feval(quadf, intfcn, xmin, xmax, tol, trace, y(i), varargin{:});
end
Q = feval(quadf, @innerintegral, ymin, ymax, tol, trace, intfcn, ...

Xmin, Xmax, tol, quadf, varargin{:});

say22=atan(H/(R1-B1+R2-B2));
b22=eps:say22/1000:say22;
s22=sin(b22).*exp(-K*(R1-B1+R2-B2)./cos(b22));
g34 = ((K*p1*(R1-B1)"2*(R2-B2)"2))/(R1-B1+R2-B2))*trapz(b22,s22);

phi9=abs(R2-R1+B1);

L9=eps:phi9/1000:phi9;

x9=exp(-K*L9);

q35=trapz(L9,x9);
philO=sqrt((R2-B2-R1+B1)"2+H"2);
L10=H:(phi10)/1000:phil0;

q36=0;

q37=(K*pi*R1"2)*(q35-q36);

ans7=q33+q34+q37,

% numerical integration for calculate gls2jo(R1-B1,R2-B2,0)
ans8=0;
gls2=-(ansl-ans2-ans3-+ans4-ansS+ans6+ans7-ansg);
gls2

s2gl=gls2

% numerical integration for calculate gls2o

b21= eps:pi/1000:pi;

r21=2*R1*sin(b21./2),
P21=(R1)"2*(p1~(b21)-sin(b21)).*sin(b21);
u21=((2.*¥b21)-sin(2.*¥b21)).*sin(b21);
m21=(r21.72+H"2);
j6=((exp(-K.*121)./(r21.3))-exp(-K.*sqrt(r21.72+H"2))./sqrt(m21.73));
f6=2*P21.*(121.72)+u21 . *((R1)"2*(R2)"2);
z21=35.*%15,

q38=(K*(R1*R2)/2)*trapz(b21,221);

say23=atan(H/(R1+R2));

b23=eps:say23/1000:say23;
s23=sin(b23).*exp(-K*(R1+R2)./cos(b23));

q39 = (K*pi*(R1)"2*(R2)"2))/(R1+R2)y*trapz(b23,s23);
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phil 1=abs(R2-R1);,
L11=eps:phil 1/1000:phil 1;
x11=exp(-K*L11);
q40=trapz(L.9,x9);
phil2=sqrt((R2-R1)"*2+H"2);
L12=H:(phil12)/1000:phil2;
q36=0;
q37=0;
anso=q38+q39+0;
gls20=anso
% calculate s3s3 in enclosure
% describing parameter in numerical integration
b24= eps:pi/1000:pi;
r24=2*R 1*sin(b21./2);
say25=atan(H./2*R1);
%d=atan(H./2*R1);
%Q = dblquad(inline('tan(h)-tan(b)', eps, pi, eps, h))
d=H/(2*R1);
global KR1 R2d H
resultl = dblquad(@int1,eps,d,eps,pi);
res1=8*(R1.72)*(resultl);
s3s3=resl
% calculate glgl in enclosure
% describing parameter in numerical integration
% glgl=glgllo(R1,R2,H)-glglio(R1,R2,0)-glglo(R1,R2-B2,H)+glgl|o(R1,R2-
B2,0)
if nargin < 7, error('Requires at least seven inputs'); end
if nargin < 8 | isempty(tol), tol = 1.e-6; end
if nargin < 9 | isempty(quadf), quadf = @quad; end
intfcn = fenchk(intfen);
trace = [];
Q = zeros(size(z));
trace = [];
for i = 1:length(y)
Q(i) = feval(quadf, intfcn, xmin, xmax, tol, trace, y(i), z, varargin{:});
end
Q = dblquad(@innerintegral, ymin, ymax, zmin, zmax, tol, trace, intfcn, ...
Xxmin, xmax, tol, quadf, varargin{:});
% -glgljo(R1-B1,R2,H)+glgljo(R1-B1,R2,0)+glgllo(R1-B1,R2-B2,H)-glgl|o(R1-B1
% ,R2-B2,0)
%numerical calculation for glgljo(R1,R2,H)
d=H/(2*R1);
global KR1 R2 d HBI B2
result2 = dblquad(@int2,eps,d,eps,pi);
res2=K"2*4*R1*R2*(result2);
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b24=eps:H/1000:H;

vi=b24;
s24=((v1."2-(R2-R1)"2)-2*H*sqrt(v1.”2-(R2-R1)"2)).*(exp(-K.*v1)./v1);
q4 1=trapz(s24,v1);

b25=eps:H/1000:H;v2=b25;
s25=(2*H-v2).*exp(-K.*v2);

q42=trapz(s25,v2);

b26=H:H/10000:H;v3=b26;
$26=(H-v3).”2.*exp((-K.*v3)./v3);

q43=0;

%q43=trapz(s26,v3);
q45=K"2*(2*pi*R1/2)*(q41+q42+q43);
gl=res2+q45;

%numerical calculation for glgl|o(R1,R2,0)
global K R1 R2d HBI B2

result3 =0;

g2=0;

%numerical calculation for glgljo(R1,R2-B2,H)
1es3=K"2*4*R1*(R2-B2)*(result2);
b27=B2:H/1000:sqrt(B2"2+H"2);

v4=b27;
s27=((v4.72-(R2-B2-R1)"2)-2*H*sqrt(v4."2-(R2-B2-R1)"2)).*(exp(-K.*v4)./v4);
q46=(2*pi*R1"2*K"2)*trapz(s27,v4);
b28=eps:H/1000:sqrt(B2/2+H"2);v5=b28§;
s28=(2*H-v5).*exp(-K.*Vv5);
q47=(2*p1*R1"2*K"2)*trapz(s28,vS);

b29=H:H/1000:sqrt(B2"2+H"2);v6=b29;
$29=(H-v6)."2.*exp((-K.*v6)./v6);
q48=(2*pi*R1"2*K"2)*trapz(s29,v6);
g3=res3+q46+q47+q48;

%numerical calculation for glgljo(R1,R2-B2,0)
res4=0;

b30=eps:B2/1000:B2;v7=b30;
s30=(2*H-v7).*exp(-K.*v7);
q49=(2*pi*R1"2*K"2)*trapz(s30,v7);

b3 1=eps:B2/1000:B2;v8=b31;
s31=(H-v8).”2.*exp((-K.*v8)./v8);
q50=(2*pi*R1"2*K"2)*trapz(s31,v8);
gd=resd4+q49+q50;

%numerical calculation for glgljo(R1-B1,R2,H)
res5=K"2*4*(R1-B1)*R2*(result2);

q51=q46;

q52=q47;

q53=q48;

44



g5=res5+q51+q52+q53;

%numerical calculation for glgl|o(R1-B1,R2,0)
res6=res4;

q54=q49;

g355=q50;

g6=res6+q54+q55;

%numerical calculation for glgljo(R1-B1,R2-B2,H)
res7=K"2*4*(R1-B1)*(R2-B2)*(result2);
q56=q45;

g7=res7+q45;

%numerical calculation for glgllo(R1-B1,R2-B2,0)
g8=0;

glgl=gl-g2-g3-+g4-g5+g6+g7-g8;

glgl;

%numerical calculation for glglo(R1,R1,H)
d=H/(2*R1);

global K R1 R2 d H B1 B2

result2 = dblquad(@int2,eps,d,eps,pi);
res2=K"2*4*R1*R2*(result2);
b24=eps:H/1000:H;

v1=b24;
s24=((v1.”2-(R2-R1)"2)-2*¥H*sqrt(v1.72-(R2-R1)"2)).*(exp(-K.*v1)./v1);
q41=trapz(s24,vl);

b25=eps:H/1000:H;v2=b25;
$25=(2*H-v2).*exp(-K.*v2);

q42=trapz(s25,v2);

b26=H:H/1000:H;v3=b26;

$26=(H-v3)."2. *exp((-K.*v3)./v3);
%q43=trapz(s26,v3);
q45=K"2*(2*pi*R1"2)*(q41+q42+q43);
gl1=res2+q45;

glglO=gll

% calculate gls3 in enclosure

% describing parameter in numerical integration
% gls3=1/2*(gls3jo(R1,R2,H)-gls3]o(R1,R2,0)-gls3|o(R1-B1,R2,H)+gls3|o(R1-B1
% ,R2,0)

%numerical calculation for gls3|o(R1,R2,H)
d=H/(2*R1);

global KR1R2 d H B1 B2

result8 = dblquad(@int3,eps,d,eps,pi);
res8=(8*K*R1"2*R2"2)*results;

resg;

global KR1R2dHBI B2

result9 = dblquad(@int3,eps,eps,eps,pi);
res9=(8*K*R1"2*R2"2)*result9 ;

res9;



%numerical calculation for gls3jo(R1-B1,R2,H)
d=H/(2*R1);

global K R1 R2d HBI1 B2

result10 = dblquad(@int3,eps,d,eps,pi);
res10=(8*K*((R1-B1)"2)*R2"2)*result10 ;
res10;

%numerical calculation for gls3|o(R1-B1,R2,0)
global K R1 R2 d H B1 B2

resultl 1 = dblquad(@int3,eps,eps,eps,pi);

resl 1=(8*K*R142*R2"2)*resultl] ;

resll;

gls3=(res8-res9-res10+res10)/2;

gls3

s3gl=gls3

%numerical calculation for gls3o

g1s30=res8
§251=s1520;s152=s2s1;5253=51530;5352=5253;5351=53510;5153=s3s1;
s3gl=A3-(s3s1+s3s2+s3s3);

sisj=[s1s1 s1s2 s1s3;s2s1 s2s2 s253;83s1 s3s2 s3s3]
slgl=gl1s20;s2gl=slgl;

sigi=[slgl;s2gl;s3gl]
gigi=(4*K*(A1*H))-sum(sig))

gigi=glgl0
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% 1n this part we need to simulate free convection and free radiation
%from outer surface of furnace to the surrond
% we suppose that To=350K and Tsur=300K
% free convection in roof -buttom walls
To=350;Tsur=300;g=9.81;sigma=5.67*10"(-8);
Tf=(To+Tsur)/2;cp=1.008;v=18.4050*10"(-6);k=28*10"(-3);alfa=26.2*10"(-
6);pr=0.703;
beta=(1/Tf);
Ls=AA/(4*B);
Grr=(g*beta*(To-Tsur)*Ls"3)/(v*2);
Rar=Grr*pr;
if Rar>=(10"7)
Nur=0.15*(Rar*(1/3));
else
Nur=0.54*(Rar"(1/4));
end
hor=(k*Nur)/Ls;% h for roof of furnace
Nub=0.27*(Rar*(1/4));
hb=(k*Nub)/Ls;% h for bottom of furnace
% free convection in vertical walls
Grw=(g*beta*(To-Tsur)*B"3)/(v*2);
Raw=Grw*pr;
Nuw=0.68+(0.67*Raw”(1/4))/(((1+(0.492/pr)"(9/16))"4/9));
how=(Nuw*k)/B;% in vertical walls
%free convection+radiation
%hor=(el*sigma*(To"4-Tsur*4)+hr*(To-Tsur))/(To-Tsur);
%how=(el*sigma*(To"4-Tsur4)+hv*(To-Tsur))/(To-Tsur);
for s=1:1:6
Q(s)=Ai(1,1)*el *sigma*(To"4-Tsur*4)+Ai(1,1)*hor*(To-Tsur);
end
Q(1)=Q(s);Q(2)=Q(s);Q(4)=Q(5);Q6)=Q(s);
Q(3)=Ai(3,1)*e3*sigma*(To"4-Tsur*4)+Ai(3,1)*hor*(To-Tsur);

% for load in furnace we use direct heating-steady state heat

% transfer in continuos rotary heat treating furnace

%load is at Tsur and we need load at TLo=1500K

% for mild steel

h0=-0.394790*10"6;h1=0.18757*10"4;h2=-1.18137;h3=0.37703*10"(-3);

h4=0;h5=0;t0=1200;ti=23;% t in celesios degre

HLTLo=(h0+h1.*to+h2.*¥t0.”2+h3.*t0.”3+h4.*to.”4+h5.*t0.”5)/1000;

c0=-0.81997*10"4;c1=0.54145%10"3;c2=-0.7122;c3=0.3444*10"(-2);

c4=-0.5628*10"(-5);c5=0.3405*10"(-8);

HLTLi=(cO+cl *ti+c2.*ti. 2+c3.*ti."3+c4.*ti."4+c5.*t1.75)/1000;
%LOAD IN FURNACE for calculate Q3 in equations
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MI=3000;% kg/h rate of loat input in furnace
Q(3)=MIL*(HLTLo-HLTLi)/(3600);

t1=23:1:800;

t2=800:1:1200;

%HLTLi=cO+c1.*t1+c2.%t] A2+¢3.%t1.3+cd *t1 M+c5.%t1 .15,

HLTLo1=h0+h1.*(t1+273)+h2.%(t1+273).A2+h3.%(t1+273)."3+h4.%(t1+273). 4+h5.*(tl
+273).15;

HLTLo2=h0+h1.*(t2+273)+h2.*(12+273)./2+h3.%(t2+273).A3+h4 *(12+273). 4+h5.*(12
+273).75;

t=[t1,12];
HL=[HLTLo1./1000,HLTL02./1000];
%plot{t+273,HL)
%grid on
%xlabel(‘temperature (K)") %Ilabel horizontal axis

%ylabel('specific enthalpy of load (KJ/Kg)") %label vertical axis
%title('load in furnace")

% sum of weighted gray gas modeling for calculate direct flux areas (DFA)
% these DFA are dependen on geometry,emissivity,temperature

Q=[Q(1):Q(2);QB)QM4)] ;

%Nu=0.54*(Ra™(1/4))
% calculatr direct flux areas (DFA) for energy balancing for first equation
% coefficient for SWGG modeling
§=5.67*10"-8;% stefan-boltzman factor
b11=0.437;b21=0.0713*10"-3;
b12=0.39;b22=-0.0052*10"-3;

%
FSiSj11=((b11*SiSj(1,1)*T174+b21*SiSj(1,1)*T175)+(b12*SiSjk(1,1)*T174+b22*SiSjk
(LD*TI1"S))*s

%
FSiSj21=((b11*SiSj(2,1)*T2"4+b21*SiSj(2,1)*T2"5)+(b12*SiSjk(2,1)*T2"4+b22*SiSjk
(2,1)*T175))*s

%
FSiS;31=((b11*SiSj(3,1)*T3"4+b21*SiSj(3,1)*T3"5)+(b12*SiSjk(3,1)*T34+b22*SiSjk
(3,1)*T375))*s

%
FSiSj41=((b11*SiS;j(4,1)*T4"4+b21*SiSj(4,1)*T4"5)+(b12*SiSjk(4,1)*T4"4+b22*SiSjk
(4,1)*T475))*s

FSiSj51=((b11*SiSj(5,1)*T5"4+b21*SiSj(5,1)*T5"5)+(b12*SiSjk(5, 1)*T5"4+b22*SiSik
(5,1)*T5"5))*s
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%
FSiSj61=((b11*SiSj(6,1)*T6"4-+b21*SiSj(6,1)*T6°5)+(b12*SiSjk(6,1)*T6 4-+b22*SiSik
(6,1)*T6"5))*s

% calculate coefficient for Ti"4 parameter
E1t4=(b11*SiSj(:,1)+b12*SiSjk(:,1))*s;
acl=-(Al*el*s);
xx1=[E1t4(1,1)+ael E1t4(2,1) E1t4(3,1) E1t4(4,1) E1t4(5,1) E1t4(6,1)];
% calculate coefficient for Ti*S parameter
E1t5=(b21*SiSj(:,1)+b22*SiSjk(:,1))*s;
yyl=[E1t5(1,1) E1t5(2,1) E1t5(3,1) E1t5(4,1) E1t5(5,1) E1t5(6,1)];
% calculate coefficient for Tg"4 parameter
Eltgd=((b11*GiSj(1,:)+b12*GiSjk(1,:)))*s;
%zz1=[E1tgd(1,1) Eltgd(1,2) Eltgd(1,3) Eltg4(1,4) Eltgd(1,5) Eltg4(1,6)]
zz1=E1tg4(1,1);
% calculate coefficient for Tg"5 parameter
Eltg5=((b21*GiSj(1,:)+b22*GiSjk(1,:)))*s;
mml1=E1tg5(1,1);
% convection term
betag=(1/1400);prg=0.705;vg=50/g;k1=0.0997;
Grwg=(g*betag*(200)*B"3)/(vg"2);
Rawg=Grwg*prg;
Nuwg=0.68+H0.67*Rawg"(1/4))/(((1+(0.492/prg)*(9/16))"4/9));
hiwg=(Nuwg*k1)/B; % in vertical walls
hiwg=how;
Eltgl=Al*hiwg;
E1tl=(A1*hiwg);
% program for calculate Q1 in equations
% calculate thermal conductivity for walls(refractory brick)
t1=27:1:1200;
ar=1.84061;br=0.1011826*10"(-3),;cr=-0.516367*10"(-7);dr=0.1277857*10"(-9);
fil=ar+br*tl+cr*t1.A2+dr*t1.”3 ;
krl=sum(fil(1,:))/(9014+273);% kr1(W/mK)
x1=0.3;s=sigma;
% hcon=8;atgl=A1*hcon; at1=-A1*hcon;
To1=320;Tsur=300;% first guess for To1(K) (wall surface in out of furnace)
hol=(el*s*(Tol1"4-Tsur*4)+how*(To1-Tsur))/(Tol-Tsur);
Qltl1=A1/((kr1/x1)+(1/hol));
Q1t0=(-A1*Tsur)/((kr1/x1)*H(1/hol));
%coefficients for eguation 1:
f1=E1t5(,1);
f1=(f1)’;
E1=[ffl mm1! xx1 zz1 Eltgl -(E1t1+Q1t1) -(Q1t0)};
% sum{(xx1(1))*(Ti"4)}+sum{(yy1(i))*(Ti*5)} +
% +sum{(zz1)*(Tg"4)}+sum{(mm1)*(Tg"5)} +(atgl)*Tg-(atl )*T1-Q1=0
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% calculatr coefficients for energy balancing in second equation
% calculate coefficient for Ti"4 parameter
E2t4=(b11*SiSj(:,2)+b12*SiSjk(:,2))*s;
ae2=-(A2%*e2*s);
xx2=[E2t4(1,1)+ae2 E2t4(2,1) E2t4(3,1) E2t4(4,1) E2t4(5,1) E2t4(6,1)];
% calculate coefficient for Ti*5 parameter
E2t5=(b21*SiSj(:,2)+b22*SiSjk(:,2))*s;
yy2=[E2t5(1,1) E2t5(2,1) E2t5(3,1) E2t5(4,1) E2t5(5,1) E2t5(6,1)];
% calculate coefficient for Tg"4 parameter
E2tgd=((b11*GiSj(1,:)+b12*GiSjk(1,:)))*s;
%zz1=[Eltg4(1,1) Eltg4(1,2) Eltg4(1,3) Eltg4(1,4) Eltgd(1,5) Eltgd(1,6)]
zz2=E2tg4(1,2);
% calculate coefficient for Tg"S parameter
E2tg5=((b21*GiSj(1,:)+b22*GiSjk(1,:)))*s;
mm2=E2tg5(1,2);
% convection term
%hcon=8;atg2=A2*hcon; at2=-A2*hcon;
kr2=krl;x2=x1;
To02=320;% first guess for To2 (wall surface in out of furnace)
ho2=(e2*s*(To2”4-Tsur"4)+how*(To2-Tsur))/(To2-Tsur);
Q2t1=A2/((kr2/x2)+(1/ho2));
Q2t0=(-A2*Tsur)/((kr2/x2)+(1/ho2));
%coefficients for eguation 1:
E2tgl=A2*hiwg;
E2t1=(A2*hiwg);
f2=E1t5(,1);
f2=(f2)';
E2=[ff2 mm2 xx2 zz2 E2tgl -(E2t1+Q2t1) -(Q2t0)];

% calculatr coefficients for energy balancing in thirth equation
% calculate coefficient for Ti"4 parameter
E3t4=(b11*SiS;j(:,3)+b12*SiSjk(:,3))*s;

ae3=-(A3*e3*s);

xx3=[E3t4(1,1)+ae3 E3t4(2,1) E3t4(3,1) E3t4(4,1) E3t4(5,1) E3t4(6,1)];
% calculate coefficient for Ti"5 parameter
E3t5=(b21*SiSj(:,3)+b22*SiSjk(:,3))*s;

yy3=[E3t5(1,1) E3t5(2,1) E3t5(3,1) E3t5(4,1) E3t5(5,1) E3t5(6,1)];
% calculate coefficient for Tg"4 parameter
E3tgd=((b11*GiSj(1,:)+b12*GiSjk(1,:)))*s;

%zz1=[E1tg4(1,1) Eltg4(1,2) Eltgd(1,3) Eltg4(1,4) Eltgd(l,5) Eltg4(1,6)]
zz3=E3tg4(1,3);

% calculate coefficient for Tg"5 parameter
E3tg5=((b21*GiSj(1,:)+b22*GiSjk(1,:))*s;

mm3=E3tg5(1,3);

% convection term

%hcon=8;atg3=A3*hcon; at3=-A3*hcon;
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% roof of rotary furnace design of ceramic fibre

% we need to calculate thermal conductivity for roof
ac=0.82297*10"(-1);bc=-0.14283*10"(-3);cc=0.95429* 10"(-6);
dc=-0.81346*10"(-9);ec=0.38894*10"(-12),

t3=1000;

fi3=actbc*t3+cc*t3.A2+dc*t3./3+ec*t3.N4 ;

kr3=kr1;% kr3(W/mK)

x3=x1;

To3=320;% first guess for To3 (wall surface in out of furnace)
ho3=(e3*s*(To3"4-Tsur"4)+hor*(To3-Tsur))/(To3-Tsur),
Q3t1=A3/((kr3/x3)+(1/ho3));
Q3t0=(-A3*Tsur)/((kr3/x3)+(1/ho3));

%coefficients for eguation 3:
E3tgl=A3*hiwg;
E3t1=(A3*hiwg);
f3=E3t5(;,1);
f3=(£3)"
E3=[ff3 mm3 xx3 zz3 E3tgl -(E3t1+Q3tl) -(Q3t0)];

% calculatr coefficients for energy balancing in forth equation

% calculate coefficient for Ti"4 parameter

E4t4=(b11*SiSj(:,4)+b12*SiSjk(:,4))*s;

aed=-(Ad*ed*s),

xx4=[E4t4(1,1)+ac4 E4t4(2,1) E4t4(3,1) E4t4(4,1) E4t4(5,1) E4t4(6,1)];

% calculate coefficient for Ti"5 parameter

E4t5=(b21*SiSj(:,4)+b22*SiSjk(:,4))*s;

yvy4=[E4t5(1,1) E4t5(2,1) E4t5(3,1) E4t5(4,1) E4t5(5,1) E4t5(6,1)];

% calculate coefficient for Tg"4 parameter

E4tgd=((b11*GiSj(1,:)+b12*GiSjk(1,:)))*s;

%zz1=[Eltgd(1,1) Eltg4(1,2) Eltg4(1,3) Eltg4(1,4) Eltg4(1,5) Eltg4(1,6)]

zz4=E4tg4(1,4);

% calculate coefficient for Tg"5 parameter

E4tg5=((b21*GiSj(1,:)+b22*GiSjk(1,:)))*s;

mm4=E4tg5(1,4);

% convection term

% hcon=8;atgd=A4*hcon; at4=-A4*hcon;

krd=krl;x4=x1;

To4=320;% first guess for To4 (wall surface in out of furnace)
ho4=(e4*s*(To4"4-Tsur*4)+how*(To4-Tsur))/(To4-Tsur);
Q4t1=A4/((kr4/x4)+(1/ho4));

Q4t0=(-A4*Tsur)/((kr4/x4)+(1/ho4));

%coefficients for eguation 4:
E4tgl=A4*hiwg;

E4t1=(A4*hiwg),
f4=E4t5(:,1);
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ffA=(f4)"
E4=[ff4 mm4 xx4 zz4 Edtg] -(E4t1+Q4t1) -(Q410)];

forii=1:1:4
g=1:4;
FSiSj=((b11*SiSj(:,g)+b21*SiSj(:,g))+(b12*SiSjk(:,g)+b22*SiSjk(:,g)))*s;
end

% calculatr coefficients for energy balancing in gas zone equation
% calculate coefficient for Tg"4 parameter
E7tgd=(b11*GiGj(:,:)+b12*GiGjk(:,:))*s;
Erad4=4*V*s*(b11*K1*+b12*K2);
zz7=E7tg4(1,1)-Erad4;

% calculate coefficient for Tg"5 parameter
E7tgS=((b21*GiGj(:,:)+b22*GiGjk(:,:)))*s;
Erad5=4*V*s*(b21*K1*+b22*K2);

mm7=E7tg5-Erads;

% calculate coefficient for Ti"4 parameter
E7t4=((b11*GiSj(1,:)+b12*GiSjk(1,:)))*s;
xx7=[E7t4(1,1) E7t4(1,2) E7t4(1,3) E7t4(1,4) E7t4(1,5) E7t4(1,6)];
% calculate coefficient for Ti*5 parameter
E7t5=(b21*GiSj(1,:)+b22*GiSjk(1,:))*s;
yy7=[E7t5(1,1) E7t5(1,2) E7t5(1,3) E7t5(1,4) E7t5(1,5) E7t5(1,6)];
%calculate coefficient for Ti parameter

for m=1:1
forn=1:4
E7tl{(m,nj=A(1)*hiwg;
end
end
Econt=(E7t1(1,1));
Econtg=sum(E7t1(1,:));% badan bayesti moadeleye antalpi niz lahaz shavad

%in this part we need to calculate convection coefficient
% in furnace for product combustion gaz in gas zones

%in this part we need to input m(mass flow for gas(kg/h)),cp(gas flow)
% for example:
m=4000;cp=1.025;

mctg=m*cp;

%in this part we need to input fuel property and combustion condition as:
%VG,CVnet,Rs,x,roa(air density),Ha(Ta)(for air)

% for example :

% Ta=300

cpair=1.007;roa=1.1614;

Rs=9.76;x=0;r0g=0.719;
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%VGm=3000;%1950 kg/h we need m"3/h
VGv=VGm/rog;%we need m"3/h
CVnet=34.91;% we need Mj/m”"3
% we need to calculate Ha(Ta) for air in combustion
Ta=288;
z1=(Ta-1400)./200:;
aa=1.234164;ba=0.243788;ca=0.003322;da=-0.000059;ea=0.00004 1 ;fa=0.000006;
Ha=aatba.*z1+ca.*z1./2+da*z]1."3+ea*z1 . 4+fa*z]1 "5,
%we need to calculate energy input in furnace
%(release from fuel+combustion air at Ta temperature)
Q7=VGVv*(CVnet+Rs*(1+(x./100)).*roa.*Ha);
Q7g=Q7/3600;
% the sensible energy loss in the flue product at Tg leaving the zone
ps=10.785 ;%combustion product/fuel
ag=1.399955;bg=0.28089;cg=0.004526,dg=0.000402;eg=0.000224;{g=0.000023;
Tg=1700;
z2=(Tg-1400)./200;
Hg=ag+bg.*z2+cg.*22 "2+dg* 72 "3+eg*z2 M+fg*z2 .7 5;% Hg(T) Mj/kg
Qg=VGv*(ps+Rs*(x/100)*roa*Hg);% Qg Mj/h
% calculate enthalpy for combustion products(gas)
acp=1401.65961;bcp=36.60067;ccp=-4.43026;dcp=0.316066;ecp=0.046715;fcp=-
0.0099;
cpgas=acp+bcp*z2+ccp*z2°2+dep*z2/3+ecp*z2”4+fcp*z2”5;

E7=[yy7 mm7 xx7 zz7 Econtg -Econt Q7g];
E=[E1;E2;E3;E4;];

% we want to solve non-linear equations simultanios ,then use
% newton method and we must guess Ti at first:
T1=900;T2=950;T3=950;T4=950;T7=1400;
T=[T1,T2;T3;T4;T7];

for u=1:ni

n1=E1t5(1,1)*T1AS+E1t5(2,1)*T2A5+E15(3,1)* T3/5+E1t5(4,1)*T4"5+E1t5(5,1)*T5"5
+E1t5(6,1)*T6"5;

n2=(E1t4(1,1)+ael)*T1"4+E1t4(2,1)*T2"4+E1t4(3,1)*T374+E1t4(4,1)*T4"4+E114(5,1)

*T5"+E1t4(6,1)*T6"4;
n3=E1tg5(1,1)*T7"5+E1tg4(1,1)*T7"4+E1tg1*T7-(E1t1+Q1t1)*T1-(Q1t0);
eql=nl+n2+n3;

nd=E2t5(1,1)*T1"5+E2t5(2,1)*T2/5+E2t5(3,1)*T3"5+E2t5(4,1)* T4 5+E2t5(5,1)*T5"5
+E2t5(6,1)*T6"S5;



n5=(E2t4(1,1)~ae2)*T1"4+E2t4(2,1)*T2"4+E2t4(3,1)*T3"4+E2t4(4,1)*T4"4+E2t4(5,1)

*T5M+E214(6.1)*T6M4;
n6=E2tg5(1,2)*T7"5+E2tg4(1,2)*T7"4+E2tg1*T7-(E2t1+Q2t1)*T2-(Q2t0);
€q2=n4+n5+nb;

n7=E3t5(1,1)*T175+E3t5(2,1)*T2A5+E3t5(3,1)*T375+E3t5(4,1)*T4"S+E3t5(5,1)*T55
+E3t5(6,1)*T67S;

n8=(E3t4(1,1)+ae3)*T1"4+E3t4(2,1)*T2"4+E3t4(3,1)*T34+E3t4(4,1)*T4"4+E3t4(5,1)
*T5+E3t4(6,1)*T6"4;
n9=E3tg5(1,3)*T7"5+E3tg4(1,3)*T7"4+E3tg1 *T7-(E3t1+Q3t1)*T3-(Q3t0);
eq3=n7+n8+n9;

n10=E4t5(1,1)*T175+E4t5(2,1)*T275+E4t5(3,1)*T3AS+E415(4,1)*T4"5+E4t5(5,1)*T5"
5+E4t5(6,1)*T6S5;

nl11=(E4t4(1,1)+aed)*T1"4+E414(2,1)* T2 4+E4t4(3,1)* T3 4+E4t4(4,1)* T4 4+E4t4(5,1
)*T5"4+E4t4(6,1)*T6"4;
nl12=E4tg5(1,4)*T7"5+E4tg4(1,4)*T7"4+E4tg1 *T7-(E4t1+Q3t1)*T4-(Q4t0);
eq4=n10+n11+nl2;

nl9=mm7*T7"5+zz7*T7"4;

n20=E7t5(1,1)*T175+E7t5(1,2)*T275+E7t5(1,3)*T375+E7t5(1,4)* T4 5+E7t5(1,5)* T 5
5+E7t5(1,6)*T675;

n21=E7t4(1,1)*T14+E7t4(1,2)*T2"4+E7t4(1,3)* T3/ 4+E7t4(1,4)* T4 4+E7t4(1,5)*T5"
4+E7t4(1,6)*¥T6"4;

n22=Econtg*T7;

n23=(-Econt)*T1+(-Econt)*T2-+(-Econt)*T3+(-Econt)*T4+(-Econt)*T5+(-
Econt)*T6+Q7g;

eq7=n19+n20+n21+n22+n23;

% to make F(Ti) matrix
FT=[eql;eq2;eq3;eq4;eq7];

% calculate matrix of partial derivative for equations
d1T1=5*E1t5(1,1)*T1"4+4*(E1t4(1,1)+ael )*T1"3-(E1t1+Q1t1);
d1T2=5*E1t5(2,1)*T2"4+4*E1t4(2,1)*T2"3;
d1T3=5*E1t5(3,1)*T3/4+4*E1t4(3,1)*T3/3;
d1T4=5*E1t5(4,1)*T4"4+4*E1t4(4,1)*T4"3;
d1T7=5*E1tg5(1,1)*T7"4+4*E1tg4(1,1)*T7"3+E 11g1;

% calculate matrix of partial derivative for equations
d2T1=5*E2t5(1,1)*T1"4+4*(E2t4(1,1)+ae2)*T1"3;
d2T2=5*E2t5(2,1)*T2"4+4*E2t4(2,1)*T2~3-(E2t1+Q2t1);
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d2T3=5*E2t5(3,1)*T3"4+4*E2t4(3,1)*T3"3;
d2T4=5*E2t5(4,1)*T4"4+4*E214(4,1)*T4"3;
d2T7=5*E2tg5(1,2)*T7"4+4*E2tg4(1,2)*T7"3+E2tgl;

% calculate matrix of partial derivative for equations
d3T1=5*E3t5(1,1)*T1"4+4*(E3t4(1,1)+ae3)*T1"3;
d3T2=5*E3t5(2,1)*T2"4+4*E3t4(2,1)*T2"3;
d3T3=5*E3t5(3,1)*T3"4+4*E3t4(3,1)*T3/3-(E3t1+Q3t1);
d3T4=5*E3t5(4,1)*T4"4+4*E3t4(4,1)*T4"3;
d3T5=5*E3t5(5,1)*T5"4+4*E3t4(5,1)*T53;
d3T6=5*E3t5(6,1)*T6"4+4*E3t4(6,1)*T6"3;
d3T7=5*E3tg5(1,3)*T7"4+4*E3tg4(1,3)*T7"3+E3tgl;

% calculate matrix of partial derivative for equations
d4T1=5*E4t5(1,1)*T1M4+4*(E4t4(1,1)+aed)*T1"3;
d4T2=5*E4t5(2,1)* T2 4+4*E4t4(2,1)*T2"3;
d4T3=5*E45(3,1)*T34+4*E4t4(3,1)*T3"3;
d4T4=5*E4t5(4,1)*T4"4+4*E4t4(4,1)*T4"3-(E4t1+Q4t1);
d4T7=5*E4tg5(1,4)*T7"4+4*E41gd(1,4)*T7 3+E41g];

% calculate matrix of partial derivative for equations
d7T1=5*E7t5(1,1)*T1"4+4*(E7t4(1,1)+ae3)*T1"3+(-Econt);
d7T2=5*E7t5(1,2)*T2"4+4*E7t4(1,2)*T2*3+(-Econt);
d7T3=5*E7t5(1,3)*T3"4+4*E7t4(1,3)*T3/3+(-Econt);
d7T4=5*E7t5(1,4)*T4"4+4*E7t4(1,4)*T4"3+(-Econt);
d7T7=5*mm7*T7"4+4*zz7*T7"3+Econtg;

dFTi=[d1T1d1T2 d1T3 d1T4 d1T5 d1T6 d1T7;d2T1 d2T2 d2T3 d2T4 d2T5 d2T6
d2T7,
d3T1d3T2 d3T3 d3T4 d3T5 d3T6 d3T7;d4T1 d4T2 d4T3 d4T4 d4T5 d4T6 d4T7;
d7T1d7T2 d7T3 d7T4 d7T5 d47T6 d7T7];
dFTi;
%Ti=[T1 T2 T3 T4 T7];
=-(FT)*inv(dFTi);
Tnew=T+D';
T=Tnew;
T1=T(1,1);T2=T(2,1);T3=T(3,1); T4=T(4,1); T7=T(7,1);
if (T-Tnew)/T < 10"-4
Tans=Tnew
end
end
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e1=0.8:¢2=0.8;e3=0.8;e¥=0.8:;

e=[el e2 €3 e4];

Rout=5;Rin=3;H=2;ML=5000;ta=600;nz=5;

za=(ta-1400)./200;
aa=1.234164;ba=0.243788;ca=0.003322;da=-0.000059;ea=0.00004 1;fa=0.000006;
Ha=(aa+ba.*za+ca.*za.”2+da.*za."3+ea.*za.4+fa. ¥za."5)*10"6;%j/kg

roair=1.1;

Rs=9.76;

Ea=Rs.*(1+0.2).*(1.1).*Ha;%j/m"3

%MI1=2500;VGm=100;
%Rout=input('inter Rout(m) ;");
%Rin=input(inter Rin(m) ;');
%H=input(‘inter H(m) ;");
%combustion conditions:

% property of surface:
rol=1-el;ro2=1-e2;ro3=1-e3;ro4=1-e4;
roi=[1-el,1-2,1-e3,1-e4];

%in this modeling CH4 burn with 20% excess air
%CH4+1.2(2*02+3.76*2N2)----> CO2+2*¥H20+0.4* 02+9.024 *N2
pC=1./(1+2.4+1.2*2%3.76);%atm
pH=2./(1+2.4+1.2*2*3.76);%atm
pt=pC+pH;%atm
% CH4 combustion in p=1 atm
ke(1=0;kg(2)=1.88;kg(3)=68.8;
kg1=0;kg2=1.88;kg3=68.8;
K1=kgl*pt;K2=kg2*pt;K3=kg3*pt;
% geometry conditions:
Rxx=Rout-Rin;
Ryy=H; Rres=sqrt(Rxx"2+Ryy"2);
B=Rres*(sqrt(2))/2;
% real area and volume:
Aul=((Rout-Rin)*H);Au6=Aul;
Au2=(2*Rin*pi*H)/(nz);Aud=(2*Rout*pi*H)/(nz);
Aus=(p1*(Rout"2-Rin"2))/(nz);Au3=Aus;
Aut=Aul+Au2+Au3+Aud+AusS+Aub;
Vu=(pi*(Rout"2-Rin"2)*H)/(nz);
fori=1:1:3
K(i)=kg(1)*pt;

K(@);
n=n+1;
%calculate (sisj)Kn=1 for use in calculate direct exchange areas(DEA)
¢1=0.1998;a=1.1053;
s16=(B"2)*cl*exp(-a*K(1)*B);
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f16=s16;

s24=£16;s35=f16;

% other DEA
s11=0;522=s11;533=522;544=533;855=544;566=555;
¢2=0.200;
a0=0.539;a1=-0.615*10"(-1);a2=0.429*107(-2);
a3=-0.151*10"(-3);a4=0.206*10(-5);
aal=a0+al*K(i).*B+a2*(K(i).*B)."2+a3*(K(i).*B)."3+a4*(K(i).*B)."4;
f12=(B"2)*c2*exp(-aal *K(i).*B);
s12=f12;513=f12;514=f12;815=f12;
$23=112;525=f12;526=f12;
s34=f12;s36=f12;545=f12;

s46=f12;556=f12;

% receprocity law:
s61=s16;542=524;563=536;553=835;
% new receprocity law:
s21=s12;s31=s13;s41=s14;s51=s15;
§32=523;552=525;562=526;
s43=534;563=536;554=545;564=546;565=556;

% calculate gb:

aa4=((-0.50513*10"(-4)*K(i).*B+0.23416*10"-2)*K(i).*B-
0.042148)*K(i).*B+0.43288;
gb=4*K(i).*(B.”3).*exp(-aa4.*K(i).*B);
% continue:
¢3=0.0337;g0=0.4563;g1=-0.311*10"(-1);22=0.824*10"(-3);
aa3=g0+gl.*(K().*B)+g2.*(K{i).*B)."2;
glal(n)=gb/6;
end
if K*B> 3

GS=(4*A/(3*K(i)*(B/2+2/3)));
else

% to calculate main part of program
c1=0.1998;a=1.1053;
s16=(B"2)*cl*exp(-a*K1*B);
fl6=s16;
s24=16;s35=f16;
% other DEA
s11=0;822=s11;s33=522;544=533;555=544;566=s55;
¢2=0.200;
a0=0.539;a1=-0.615*%10"(-1);a2=0.429*10"(-2);
a3=-0.151*107(-3);a4=0.206*10"(-5);
aal=a0+al*K1.*B+a2*(K1.*B)."2+a3*(K1.*B)."3+a4*(K1.*B)."4;
£12=(B"2)*c2*exp(-aal *K1.*B);
s12=f12;s13=f12;s14=112;s15=f12;
§23=f12;525=f12;526=112;
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s34=12;536={12;545=f12;

s46=f12;556=f12;

% receprocity law:
$61=s16;542=524;563=536;553=535;

% new receprocity law:
s21=s12;s31=s13;s41=514;s51=s15;
§32=523;552=525,562=526;
s43=534;563=536;554=545;564=546;565=556;

aiajk1=[s11 s12 s13 s14 515 516;521 522 523 524 525 526;
s31 832 533 s34 535 536;541 542 543 s44 545 s46;
s51 852 553 s54 555 $56;561 62 563 s64 s65 s66];
wul=Aul/Aut;wu2=Au2/Aut;wu3=Au3/Aut;wud=Aud/Aut;

% continue:
% calculate gb:
aa4=((-0.50513*10"(-4)*K1.*B+0.23416*10"-2)*K 1.*B-0.042148)*K 1.*B+0.43288;
gb=4*K1.*¥(B."3).*exp(-aa4.*K1.*B);
gb1=4*K1.¥(B."3).*exp(-aa4.*K 1.*B);
gbul=[wul*gbl;wu2*gbl;wu3*gbl;wud*gbl;wuS*gbl;wub*gbl];

% continue:
¢3=0.0337;20=0.4563;g1=-0.311*10"(-1);g2=0.824*10"(-3);
aa3=g0+gl.*(K1.*B)+g2.*(K1.*B)."2;

giajk1=gb/6;
gal=[giajk1;giajkl;giajkl;giajkl;giajk1;giajk1];

%continue:

si=s11+s12+s13+s14+s15+s16;

%sj=sum(si);

x1=6*giajkl;

gigik1=(4*K1*V)-(x1);

gigikl;

gigjuk1=(4*Vu*K1)-sum(gbul);

end

¢1k=0.1998;ak=1.1053;

s16k=(B"2)*clk*exp(-ak*K2*B);

fl6k=s16k;

s24k=f16k;s35k=f16;

% other DEA
s11k=0;s22k=s11k;s33k=s22k;s44k=s33k;s55k=s44k;s66k=s55k;
¢2k=0.200;
a0k=0.539;alk=-0.615*10"(-1);a2k=0.429*10"(-2);
a3k=-0.151*10"(-3);a4k=0.206*10"(-5);

aalk=a0k+alk*K2 *B+a2k*(K2.*B)."2+a3k*(K2.*B)."3+adk*(K2.*B)."4;
f12k=(B"2)*c2k*exp(-aalk*K2.*B);
s12k=f12k;s13k=f12k;s14k=f12k;s15k=f12k;
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§23k=f12k;s25k=f12k;s26k=£12k;
s34k=f12k;s36k=f12k;s45k=f12k;
sd6k=f12k;s56k=f12k;

% receprocity law:
s61k=s16k;s42k=s24k;s63k=s36k;s53k=s35k;

% new receprocity law:

s21k=s12k;s31k=s13k;s4 1k=s14k;s51k=s15k;
$32k=s23k;s52k=s25k;s62k=s26k;
s43k=s34k;s63k=s36k;s54k=s45k;s64k=s46k;s65k=s56k;

slslk=s11;s152k=0.3951;s2s1k=s1s2k;s6s2k=s1s2k;s2s6k=s6s2k;
% calculate gbk:
aa4k=((-0.50513*10"(-4)*K2.*B+0.23416*10"-2)*K2.*B-
0.042148)*K2.*B+0.43288,;
gbk=4*K2.*(B.”3).*exp(-aadk.*K2.*B);
gb2=4*K2.*(B."3).*exp(-aadk.*K2.*B);
gbkl=wul*gb2;gbk2=wu2*gb2;gbk3=wu3*gb2;gbk4=wud*gb2;gbkS=wu5*gb2;gbk6=
wub*gb2;
gbu2=[gbkl; gbk2 ;gbk3 ;gbk4; gbk5; gbk6];
% continue:
¢3=0.0337;20=0.4563;g1=-0.311*10"(-1);g2=0.824*10"(-3);
aa3=g0+gl.*(K2.*B)+g2.*(K2.*B)."2;
giajk2=gbk/6;
ga2=[giajk2;giajk2;giajk2;giaik2;giajk2;giaik2];
%continue:
x2=6*giajk2;
gigjk2=(4*K2*V)-(x2);
gigik2;
gigjuk2=(4*Vu*K2)-(gbk1+gbk2+gbk3+gbk3+gbk5+gbk6);

%for third gray gas with k3:

c1t=0.1998;at=1.1053;

sl6t=(B"2)*clt*exp(-at*K3*B);

fl6t=s16t;

s24t=f16t;s35t=f16t;

% other DEA
s11t=0;s22t=s11t;s33t=s22t;544t=s33t;s55t=544t;566t=s55t;
¢2t=0.200;
a0t=0.539;a1t=-0.615*10"(-1);a2t=0.429*10"(-2);
a3t=-0.151*10"(-3);a4t=0.206*10"(-5);
aalt=a0t+alt*K3.*B+a2t*(K3.*B).A2+a3t*(K3.*B). 3+a4t*(K3.*B)."4;
f12t=(B"2)*c2t*exp(-aal t*K3.*B);
s12t=f12t;513t=112t;514t=f12t;515t=f12¢;
s23t=f12t;825t=f12t;826t=112t;
s34t=112t;s36t=f12t;s45t=f12t;
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s46t=f12t;s56t=f12t;

% receprocity law:
s61t=s16t;s42t=s24t;563t=s36t;553t=s3 5t;

% new receprocity law:
s21t=s12t;s31t=s13t;s41t=s14t;s51t=s15t;
$32t=s23t;852t=525t;562t=s26t;
543t=534t;563t=s36t;554t=s45t;564t=546t;565t=s56t;

% calculate gbt:
aa4t=((-0.50513*10"(-4)*K3.*B+0.23416*10"-2)*K3.*B-0.042148)*K3.*B+0.43288;
gbt=4*K3.*(B."3).*exp(-aa4t.*K3.*B);

% continue:
¢3t=0.0337;g0t=0.4563;g1t=-0.311*10"(-1);g2t=0.824* 10~(-3);
aa3t=gOt+glt.*(K3.*B)+g2t.*(K3.*B)."2;

giajk3=gbt/6 ;

giajk3=gbt/6;

ga3=[giajk3;giajk3;giajk3;giajk3;giajk3;giajk3];

%continue:

x3=6*giajk3;

gigik3=(4*K3*V)-(x3);

gigik3;

% calculate TEA:

if K1*B> 3
GiSjk1=(4*A/(3*K1*((B/2)+(2/3))));
GiGjk1=4*Ai(1)/(3*K1*B);
SiSjk1=eAi-(GiSjk1);

else

ei=[el,e2,e3,e4];

Ai=[A1;A2;A3;A4;A5;A6];

Au=[Aul;Au2;Au3;Aud);

el=diag(ei,0);

Al=diag(A1,0);

Aul=diag(Au,0);

eAi=[el*Al;e2*A2;e3*A3;ed4*A4];

eAu=[el*Aul;e2*Au2;e3*Au3;e4*Aud};

eAl=diag(eAi,0);

eAl=diag(eAi,0);

eAul=diag(eAu,0);

%another matrix:

roi=[ro1,ro2,ro3,ro4};
rol=diag(roi,0);
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% matrix relations:
RRk1=Al-(aiajk1*rol);
RRuk1=Aul-(sisjk1*rol);

Rk1=inv(RRk1);

Ruk1=inv(RRukl);
ddd=eAI*Rk1*aiajk1*el

SiSj1=ddd;

SiGjkl=eAI*Rkl1*gal;
GiSjk1=(SiGjk1);

aigjkl=(gal)’;
GiGjkl=aigjk1*rol*Rk1*gal+gigjkl;

SiSjukl=eAul*Ruk]1*sisjk1*el;
SiGjukl=eAul*Ruk1*gbul;
GiSjuk1=(SiGjuk1)}

sigjukl=(gbul);
GiGjukl=sigjuk1*rol*Ruk1*gbul+gigjuk]l;

end

%continue for TEA with K2

if K2*B> 3
GiSjk2=(4*A/(3*K2*((B/2)+(2/3))));
GiGjk2=4*Ai(1)/(3*K2*B);
SiSjk2=eAi-(GiSjk2)";

else

ei=[el,e2,e3,e4];

AI=[AL;A2;A3;A4];

Au=[Aul;Au2;Au3;Au4];

el=diag(ei,0);

Al=diag(Ai,0);

Aul=diag(Au,0);

eAi=[el1*Al;e2*A2;e3*A3ed4* A4];

eAu=[el*Aul;e2*Au2;e3*Au3;e4*Aud];

eAl=diag(eAi,0);

eAl=diag(eAi,0);

eAul=diag(eAu,0);

%another matrix:

roi=[rol,ro2,ro3,ro4];

rol=diag(roi,0);

% matrix relations:

RRk2=Al-(aiajk2*rol);

RRuk2=Aul-(sisjk2*rol);

Rk2=inv(RRk2);
Ruk2=inv(RRuk2);
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SiSjk2=eAI*Rk2*aiajk2*el;
SiSjuk2=eAul*Ruk2*sisjk2*el;
SiGjk2=eAI*Rk2*ga2;
SiGjuk2=eAul*Ruk2*gbu?2;
GiSjk2=(SiGjk2)};
GiSjuk2=(SiGjuk2)';

aigik2=(ga2)’;

aigjuk2=(gbu2);
GiGjk2=aigjk2*rol*Rk2*ga2+gigjk2,
GiGjuk2=aigjuk2*rol*Ruk2*gbu2+gigjuk2;
end

% continue for k3 TEA:

if K3*B>3
GiSjs1=(4*A1/(3*K3*((B/2)+(2/3))));
GiSjs2=(4*A2/(3*K3*((B/2)+(2/3))));
GiSjs3=(4*A3/(3*K3*((B/2)*+(2/3))));
GiSjs4=(4*A4/(3*K3*((B/2)+(2/3))));
GiSjs=[GiSjs1 GiSjs2 GiSjs3 GiSjs4];
GiGjk3=4*A1/(3*K3*B);
SiGjk3=(GiSjs)";

end
if K3*B> 3
GiS;jt1=(4*Aul/(3*K3*((B/2)+(2/3))));
GiSjt2=(4* Au2/(3*K3*((B/2)+(2/3))));
GiS;jt3=(4*Au3/(3*K3*((B/2)+(2/3))));
GiSjt4=(4* Aud/(3*K3*((B/2)+(2/3))));

SiSjk1=eAi-(GiSjk1)";
end

for wi=1:1:6
SiSjk3(1,wi)=e(wi)*A(wi)-SiGjk3(wi,1);
SiSjk3(1,wi);
end
forsi=1:1:6
for ri=1:1:6
SiSjk3(si,n)= SiSjk3(1,wi);
end
end

ei=[el,e2,e3,e4];
Ai=[A1;A2;A3;A4];

el=diag(ei,0);

Al=diag(Ai,0);
eAi=[el1*Al;e2*A2;e3*A3;e4*A4];
eAl=diag(eAi,0);
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%another matrix:
roi={rol,ro2,ro3,ro4]:
rol=diag(roi,0);
% matrix relations:
RRk3=Al-(aiajk3*rol);
Rk3=inv(RRk3),
SiSjk3=eAl*Rk3*aiajk3*el;
SiGjk3=eAI*Rk3*ga3
GiSjk3=(SiGjk3));
aigjk3=(ga3)’;
GiGjk3=aigjk3*rol*Rk3*ga3+gigjk3;
% radiation equation :
s=5.67*10"-8;
b11=0.437;b21==0.0713*10"-3;
b12=0.39;b22=-0.0052*10"-3;
b13=0.173;b23=-0.0661*10"-3;

tg=873;
t1=720;t2=720;t3=720;t4=720;t5=(400+273+300)/2;t6=720;,

% balance for combustion product in zonel;
fgs1=(((b11+b21.*tg)*GiSjk1(1,1)+(b12+b22.*tg)*GiSjk2(1,1)+(b13+b23.*tg)*GiSjs(1,
1))).*s.*(tg.”4);% j/s
fgs2=(((b11+b21.*tg)*GiSjk1(1,2)+(b12+b22.*tg)*GiSjk2(1,2)+(b13+b23.*tg)*GiSjs(1,
2))).*s.*¥(tg."4);%j/s
fgs3=(((b11+b21.*tg)*GiSjk1(1,3)+(b12+b22.*tg)*GiSjk2(1,3)+(b13+b23 . *tg)*GiSjs(1,
3))).*s.*(tg.”4);%)/s
fgs4=(((b11+b21.*tg)*GiSjk1(1,4)+(b12+b22.*tg)*GiSjk2(1,4)+(b13+b23.*tg)*GiSjs(1,
4))).*s.*(tg."4);%)j/s

ugsl=(((b11+b21.*tg)*GiSjuk1(1,1)+(b12+b22. *tg)*GiSjuk2(1,1)+(b13+b23.*tg)*GiSjt
1)).*s.*(tg."4);% j/s

ugs2=(((b1 1+b21 *tg)*GiSjuk1(1,2)+(b12+b22.*tg)*GiSjuk2(1,2)Hb13+b23 *tg)*GiSjt
2)).*s.*(tg.~4);%j/s
ugs3=(((b11+b21.*¥tg)*GiSjuk1(1,3)+(b12+b22.*tg)*GiSjuk2(1,3)+(b13+b23.*tg)*GiSjt
3)).*s.*(tg.4);%)j/s
ugs4=(((b11+b21.*tg)*GiSjuk1(1,4)+(b12+b22.*tg)*GiSjuk2(1,4)+(b13+b23.*tg)*GiSjt
4)).*s.*(tg."4);%j/s

% for GS fromsto g
fsgl=(((b11+b21.*t1)*GiSjk1(1,1)+(b12+b22.*t1)*GiSjk2(1,1)+(b13+b23.*t1)*GiSjs(1,
1))).*s.*(t1.74);% j/s
fsg2=(((b11+b21.*¥t2)*GiSjk1(1,2)+(b12+b22.*t2)*GiSjk2(1,2)+(b13+b23.*t2)*GiSjs(1,
2))).*s.*(t2.74);% j/s
fsg3=(((b11+b21.*t3)*GiSjk1(1,3)+(b12+b22.*t3)*GiSjk2(1,3)+(b13+b23.*t3)*GiSjs(1,
3))).*s.*(t3.74);% j/s
fsgd=(((b11+b21.*¥t4)*GiSjk1(1,4)+(b12+b22.*t4)*GiSjk2(1,4)+(b13+b23.*¥t4)*GiSjs(1,
4))).*s.*(14.24);% j/s
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usgl=(((b11+b21.*t1)*GiSjuk1(1,1)+Hb12+b22.*t1)*GiSjuk2(1,1)+(b13+b23.*t1)*GiS;jt
1)).*s.*(t1.%4);% j/s

usg2=(((b1 1+b21.*¥t2)*GiSjuk1(1,2)+(b12+b22 *12)*GiSjuk2(1,2)+(b13+b23 *12)*GiS;t
2)).*s.*(12.74);% j/s
usg3=(((b11+b21.*t3)*GiSjuk1(1,3)+Hb12+b22.*t3)*GiSjuk2(1,3)+(b13+b23.*t3)*GiSjt
3)).*s.*(t3.74);% j/s
usgd=(((b11+b21.*t4)*GiSjuk1(1,4)+(b12+b22.*t4)*GiSjuk2(1,4)+(b13+b23.*t4)*GiSjt
4)).*s.*(14.74);,% i/s

%sumation of parameters:

FGS=fgs1+fgs2-+fgs3+fgsd+fgs5+fgs6;

FSG=fsgl+fsg2-+fsg3+fsgd+fsg5+fsg6;

Qrad1=abs(FGS-FSG);

% j/s=watt

%sumation of parameters:

uFGS=ugs1+ugs2+ugs3+ugs4-+ugsS+ugs6;

uFSG=usgl+usg2+usg3-+usgd-+usgS+usgb;

uQrad 1=abs(uFGS-uFSG);

Qradl;

uQradl;

h=12; %

Qconvi=Al*h*(tg-t1)}+A2 *h. *(tg-12)+A3.*h. *(tg-t3)+Ad . *h.*(tg-t4)
uQconvl=Aul.*h.*(tg-t1)+Au2.*h. *(tg-t2)+Au3.*h. *(tg-t3)+Aud. *h. *(tg-

t4)+AuS.*h. *(tg-t5)+Au6.*h.*(tg-t6);

Qconvl;

conload 1=AS5.*h.*(tg-t5);

uconload 1=Au5.*h.*(tg-t5);

% for combustion:

Rs=9.76;

ps=10.785;

rog=0.719;

cvnet=34.91*10"6;% j/(m"3);

% Qg:

z=(tg-1400)./200; .
Hg1=(1.399+0.28089.*z+0.004526.*z.72+0.000402.*z."3+0.000224.*2.74+0.000023 . *z.
ASY*107(6);% j/kg

zaribl=Hg1.*0.7 *(ps+0.2.*Rs);%j/m"3

%QGen=(VG*cvnet)/3600;

% for load:

ah1=-0.81997*10"4;ah2=-0.394790*10"6;
bh1=0.54145%1073;bh2=0.18757*10"4;
ch1=-0.7122;ch2=-1.18137;
dh1=0.3444*107(-2);dh2=0.37703*107(-3);
eh=-0.5628*10/(-5);

fh1=0.3405*107(-8);

Ti1=25;To1=400;
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if Ti1<=(800)
HL1il1=ahl+bh1l.*Til+ch1.*(Ti1.72)+dh1.*(Til.”3)+eh.*(Til.~4)+fh1.*(Ti1.75);
else

HL1il=ah2+bh2 *Til+ch2.*(Ti1./A2)+dh2.*(Ti1."3);
end
if To1<=(800)
HL1lol=ahl+bhl.*Tol+chl.*(To1.#2)+dh1.*(Tol.”3)+eh.*(Tol.”4)+fh1.*(Tol."5);
else
HL1o1=ah2+bh2.*Tol+ch2.*(To1.72)+dh2.*(To1.3);
end
deltaH1=(HL1o01- HL1il);
Q1=ML.*deltaH1;%j/hr
QL1=0Q1/3600 ;% j/s=watt
% calculate qout with
z2tg=1123;z3tg=1323;z4tg=1473;z5tg=1573;
z2=(z2tg-1400)./200;
Hg2=(1.399+0.28089.%22+0.004526.*22.72+0.000402.*22.73+0.000224 . *22.”4+0.00002
3.*%22.75)*107(6);% j/’kg
zarib2=Hg2.*0.7.*(ps+0.2.*Rs);%j/m"3
z3=(z3tg-1400)./200;
Hg3=(1.399+0.28089.*23+0.004526.*%23.72+0.000402.*23.73+0.000224.*%23.74-+0.00002
3.*23.75)*¥107(6);% j/’kg
zarib3=Hg3.*0.7.*(ps+0.2.*Rs);%j/m"3
z4=(z4tg-1400)./200;
Hgd=(1.399+0.28089.*z4+0.004526.*24.72+0.000402.*24.73+0.000224 .*z4.74-+0.00002
3.*%24 75)*107(6);% j/’kg
zarib4=Hg4.*0.7.*(ps+0.2.*Rs);%j/m"3
z5=(z4tg-1400)./200;
Hg5=(1.399+0.28089.*25+0.004526.*25.72+0.000402.*25.73+0.000224.*25.74+0.00002
3.%25.°5)*107(6);% j’kg
zarib5=Hg5.*0.7 *(ps+0.2.*Rs);%j/m"3

VG1=(Qrad1+Qconv1+QL1)/(cvnet-zarib1);% m"3/s
uVG1=(uQrad1+uQconv1+QL1)/(cvnet-zaribl);% m"3/s

VGh1=VG1#*3600;
uVGh1=uVG1*3600;

MGI1=rog*VGhl;
uMG1l=rog*uVGhi;

MGI1;

VGhl;
Qout=VG1.*zaribl;
uQout=uVG1.*zaribl;
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% balance for combustion product in zone2;
72tg=1123;t=850;
22t1=1050;22t2=1050;22t3=1050;22t4=1050;22t5=(650+273+273+400)/2;22t6=1050;

z2gs1=(((b11+b21.*22tg)*GiSjk1(1,1)+(b12+b22.*22tg)*GiSjk2(1,1)+(b13+b23 *z2tg)*
GiSjk3(1,1))).*s.*(z2tg.”4);% j/s
22gs2=(((b11+b21.*z2tg)*GiSjk1(1,2)+(b12+b22.*22tg)*GiSjk2(1,2)+(b13+b23 . *z2tg)*
GiSjk3(1,2))).*s.*(z2tg."4);%j/s
22gs3=(((b11+b21.*22tg)*GiSjk1(1,3)+(b12+b22.*22tg)*GiSjk2(1,3)+H(b13+b23.*z2tg)*
GiSjk3(1,3))).*s.*(z2tg.4);%j/s
22gs4=(((b11+b21.*22tg)*GiSjk1(1,4)+(b12+b22.*22tg)*GiSjk2(1,4)Hb13+b23.*z2tg)*
GiSjk3(1,4))).*s.*(22tg."4);%j/s
u2gs1=(((b11+b21.*22tg)*GiSjuk1(1,1)+(b12+b22.*22tg)*GiSjuk2(1,1)+(b13+b23.*22t
2)*GiSjtl)). *s.*(22tg.~4);% j/s
u2gs2=(((b11+b21.*¥z2tg)*GiSjuk1(1,2)+(b12+b22.*¥22tg)*GiSjuk2(1,2)+(b13+b23.*z2t
g)*GiSjt2)).*s. *(z2tg.N4);%j/s
u2gs3=(((b11+b21.*z2tg)*GiSjuk1(1,3)+(b12+b22.*22tg)*GiSjuk2(1,3)+(b13+b23.*z2t
2)*GiSjt3)). *s.*(22tg.”4);%j/s
u2gs4=(((b11+b21.*¥z2tg)*GiSjuk1(1,4)+(b12+b22.*¥z2tg)*GiSjuk2(1,4)+(b13+b23.*¥z2t
2)*GiSjt4)).*s.*(z2tg."4);%j/s

% for GS fromsto g:
z2sg1=(((b11+b21.*¥22t1)*GiSjk1(1,1)+(b12+b22.*¥22t1)*GiSjk2(1,1)+H(b13+b23.*22t1)*
GiSjk3(1,1))).*s.*(z2t1.74);% j/s
z2sg2=(((b11+b21.*22t2)*GiSjk1(1,2)+(b12+b22.*22t2)*GiSjk2(1,2)Hb13+b23.*z2t2)*
GiSjk3(1,2))).*s.¥(z212.74);% j/s
z2sg3=(((b11+b21.*22t3)*GiSjk1(1,3)+(b12+b22.*22t3)*GiSjk2(1,3)+(b13+b23.*z2t3)*
GiSjk3(1,3))).*s.*(z2t3.74);% j/s
z2s5g4=(((b11+b21.*22t4)*GiSjk1(1,4)+(b12+b22.*22t4)*GiSjk2(1,4)+(b13+b23.*z2t4)*
GiSjk3(1,4))).*s.*(22t4.74);% j/s
u2sgl=(((b11+b21.*22t1)*GiSjuk1(1,1)+(b12+b22.*¥22t1)*GiSjuk2(1,1)+(b13+b23.*z2t
1)*GiSjtl)).*s.*(22t1.°4);% j/s
u2sg2=(((b11+b21.*22t2)*GiSjuk1(1,2)+(b12+b22.*¥72t2)*GiSjuk2(1,2)+(b13+b23.*z2t
2)*GiSjt2)).*s.*¥(22t2.74);% j/s
u2sg3=(((b11+b21.*z2t3)*GiSjuk1(1,3)+(b12+b22.¥22t3)*GiSjuk2(1,3)+(b13+b23.*z2t
3)*GiSjt3)).*s.*(22t3.74);% j/s
u2sgd=(((b11+b21.*22t4)*GiSjuk1(1,4)+(b12+b22.*22t4)*GiSjuk2(1,4)+(b13+b23.*z2t
4)*GiSjt4)).*s. *(z2t4.74);% j/s

%sumation of parameters:
z2FGS=z2gs1+z2gs2+72gs3+22gs4+z2gs5+z2gs6;
z2FSG=2z2sg1+225g2+725g3+725g4+72585+72586;
Qrad2=abs(z2FGS-z2FSG);% j/s=watt

u2FGS=u2gs1+u2gs2+u2gs3+u2gsd4+u2gs5+u2gso;

u2FSG=u2sgl+u2sg2+u2sg3+u2sgd+u2sgS+u2sgo;
uQrad2=abs(u2FGS-u2FSG);% j/s=watt
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h2=10; %
Qconv2=A1.*h2.*(z2tg-z2t1)+A2.*h2.*(z2tg-z2t2)+A3.*h2.*(z2tg-
z2t3)+A4.*h2.*(z2tg-z2t4)

Qconv2;

uQconv2=Aul.*h2.*(z2tg-z2t1)+Au2.*h2.*(z22tg-z212)+Au3.*h2.*(z2tg-
z2t3)+Aud. *h2 *(z2tg-z2t4)+AuS.*h2 . *(z2tg-z2t5)+ Aub.*h2.*(z2tg-z2t6);
uQconv2;
uconload2=Au5.*h.*(z2tg-z2t5);
% for combustion:
Rs=9.76;
ps=10.785;
rog=0.719;
cvnet=34.91*10"6;% j/(m"3);
% Qg:
z2=(z2tg-1400)./200;
Hg2=(1.399+0.28089.*22+0.004526.*22.72+0.000402.*22.73+0.000224 .*22.”4+0.00002
3.¥22./5)*107(6);% j/kg
zarib2=Hg2.*0.7.*(ps+0.2.*Rs);%j/m"3
%QGen=(VG*cvnet)/3600;
% for load:
Ti2=400;T02=650;
if Til<=(800)
HL1i2=ah1+bh1.*Ti2+ch1.*¥(Ti2.#2)+dh1.*¥(Ti2.#3)+eh.*(Ti2.74)+th1.*(Ti2."5);
clse
HIL1i12=ah2+bh2.*Ti2+ch2.*(Ti2.#2)+dh2.*(Ti2.73);
end
if To2<=(800)
HL1lo2=ahl+bhl.*To2+chl.*(T02.72)+dh1.*(T0o2.23)+eh.*(To2.74)+th1.*(To2."5);
else
HL102=ah2+bh2.*To2+ch2.*(To02.#2)+dh2.*(To2.3);
end
deltaH2=(HL102- HL1i2)
Q2=ML.*deltaH2;
QL2=0Q2/3600; % j/s=watt

VG2=((Qrad2+Qconv2+QL2-Qout)/(cvnet-zarib2));% m”"3/s
uVG2=((uQrad2+uQconv2+QL2-uQout)/(cvnet-zarib2));% m”3/s

VGh2=V(G2*3600;
uVGh2=uV(G2*3600;

MG2=t0og*VGh2;
uMG2=rog*uVGh2;
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MG2;

VGh2;

%% balance for combustion product in zone3;

z3tg=1323;t=850;
23t1=1220;2312=1220;23t3=1220;23t4=1220;23t5=(900+273+650+273)/2;23t6=1220;

23gs1=(((b11+b21.*z4tg)*GiSjk1(1,1)+H(b12+b22.*z4tg)*GiSjk2(1,1)+(b13+b23.*z4tg)*
GiSjk3(1,1))).*s.*(z3tg."4);% j/s
23gs2=(((b11+b21.*z3tg)*GiSjk1(1,2)+(b12+b22.*z3tg)*GiSjk2(1,2)+(b13+b23.*z3tg)*
GiSjk3(1,2))).*s.*(z3tg.”4);%j/s
z3gs3=(((b11+b21.*z3tg)*GiSjk1(1,3)+(b12+b22.*23tg)*GiSjk2(1,3)+(b13+b23 . *z3tg)*
GiSjk3(1,3))).*s.*(z3tg."4);%j/s
z3gsd=(((b11+b21.*z3tg)*GiSjk1(1,4)+(b12+b22.*z3tg) *GiSjk2(1,4)+(b13+b23.*z3tg)*
GiSjk3(1,4))).*s.*(z3tg."4);%yj/s
z3gs5=(((b11+b21.*23tg)*GiSjk1(1,5)+(b12+b22.*z3tg)*GiSjk2(1,5)+(b13+b23.*z3tg)*
GiSjk3(1,5))).*s.*(z3tg."4);%j/s
z3gs6=(((b11+b21.*23tg)*GiSjk1(1,6)+(b12+b22.*z3tg)*GiSjk2(1,6)+(b13+b23.*z3tg)*
GiSjk3(1,6))).*s.*(z3tg."4);%j/s

% for GS from s to g:

u3gsl=(((b11+b21.*z4tg)*GiSjuk 1(1,1)+(b12+b22.*z4tg) *GiSjuk2(1,1)+(b13+b23.*z4t
2)*GiSjtl)). *s.*(23tg.~4);% j/s
u3gs2=(((b11+b21.*23tg)*GiSjuk1(1,2)+(b12+b22.*z3tg)*GiSjuk2(1,2)+(b13+b23.*z3t
2)*GiSjt2)).*s. *¥(23tg."4);%j/s
u3gs3=(((b11+b21.*z3tg)*GiSjuk1(1,3)+(b12+b22.*23tg)*GiSjuk2(1,3)+(b13+b23.*z3t
2)*GiSjt3)).*s.*(z3tg."4);%j/s
u3gsd=(((b11+b21.*¥z3tg)*GiSjuk1(1,4)+(b12+b22.*23tg)*GiSjuk2(1,4)+(b13+b23.*23t
2)*GiSjtd)). *s. *(z3tg.”4);%j/s
u3gs5=(((b11+b21.*z3tg)*GiSjuk1(1,5)+H(b12+b22.*23tg)*GiSjuk2(1,5)+(b13+b23.*z3t
) ) /
2)*GiSjt5)).*s. *¥(z3tg."4);%)j/s
u3gs6=(((b11+b21.*z3tg)*GiSjuk1(1,6)+H(b12+b22.*23tg)*GiSjuk2(1,6)+(b13+b23.*z3t
2)*GiSjt6)).*s.*¥(z3tg."4);%j/s

23sg1=(((b114b21.*23t1)*GiSjk1(1,1)+(b12+b22.*23t1 )*GiSjk2(1,1)+(b13+b23.*z3t1)*
GiSjk3(1,1))).*s.%(z3t1.74);% jis
23sg2=(((b11+b21.*23t2)*GiSjk 1(1,2)+(b12+b22.%23t2)*GiSjk2(1,2)+(b13+b23 *Z3t2)*
GiSik3(1,2))).*s.*(z3t2.4);% j/s
Z3sg3=(((b11+b21.*23t3)*GiSjk 1(1,3)+(b12+b22.%23t3)*GiSjk2(1,3)+(b13+b23 *z313)*
GiSjk3(1,3))).*s.%(z3t3.74);% i/s
Z3sgd=(((b11+b21.*23t4)*GiSik1(1,4)+(b12+b22.%23t4)*GiSjk2(1,4)+(b13+b23 *z3t4)*
GiSjk3(1,4))).*s.*(23t4.74);% j/s

u3sgl=(((b11+b21.*¥23t1)*GiSjuk1(1,1)+(b12+b22.*23t1)*GiSjuk2(1,1)+(b13+b23.*23t
1)*GiSjt1)).*s.*(23t1.°4):% j/s
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u3sg2=(((b11+b21.*z3t2)*GiSjuk1(1,2)+(b12+b22.*z3t2)*GiSjuk2(1,2)+(b13+b23.*z3t
2)*GiSjt2)).*s.*(23t12.74);% /s
u3sg3=(((b11+b21.*z3t3)*GiSjuk1(1,3)+(b12+b22.*23t3)*GiSjuk2(1,3)+(b13+b23.*z3t
3)*GiSjt3)). *s.*(23t3.74);% j/s
u3sgd=(((b11+b21.*z3t4)*GiSjuk1(1,4)+(b12+b22.*23t4)*GiSjuk2(1,4)+(b13+b23.*2z3t
4)*GiSjt4)). *s.*(z3t4.74);% j/s

%sumation of parameters:

z3FGS=z3gs1+z3gs2+z3gs3+z3gs4+z3gsS5+z3gs6;
z3FSG=z3sgl+z3sg2+z3sg3+z3sg4+23sg5+23sg6;

Qrad3=abs(z3FGS-z3FSG);% j/s=watt

h3=10; %

u3FGS=u3gsl+u3gs2+u3gs3+u3gs4+ulgs5+ulgso6;
u3FSG=u3sgl+u3sg2+u3sg3+ul3sgd+ulsgS+ulsgo;
uQrad3=abs(u3FGS-u3FSG);% j/s=watt

Qconv3=A1.*h3.*(z3tg-z3t1)+A2.*h3.*(z3tg-z3t2)+A3.*h3.*(z3tg-
z3t3)+A4.*h3.*(z3tg-z3t4)+AS5.*h3.*(z3tg-z3t5)+A6.*h3.*(z3tg-z3t6);
Qconv3;

uQconv3=Aul.*h3.*(z3tg-z3t1)+Au2.*h3.*¥(z3tg-z3t2)+Au3.*h3.*(z3tg-
z3t3)+Aud.*h3.*(z3tg-z3t4)
uQconv3;
uconload3=Au5.*h.*(z3tg-z3t5);
% for combustion:
Rs=9.76;
ps=10.785;
rog=0.719;
cvnet=34.91*10"6;% j/(m"3);
% Qg:
23=(z3tg-1400)./200; ,
Hg3=(1.399+0.28089.%¥23+0.004526.*23.72+0.000402.*23.73+0.000224.*z3.74+0.00002
3.¥23.75)*10(6);% j/’kg
zarib3=Hg3.*0.7.*(ps+0.2.*Rs);%j/m"3
%QGen=(VG*cvnet)/3600;
% for load:
Ti3=650;T03=900;
if Ti3<=(800)
HL1i3=ah1l+bhl1.*Ti3+chl.*(Ti3.#2)+dh1.*(Ti3.A3)+eh.*(Ti3.74)+th1.*(Ti3.75);
else
HL1i3=ah2+bh2 *Ti3+ch2.*(Ti3.2)+dh2.*(Ti3.3);
end
if To3<=(800)
HL1lo3=ahl+bhl.*To3+chl.*(T03.72)+dh1.*(To3.”3)+eh.*(T03.*4)+th1.*(To03.75);
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else

HL lo3=ah2+bh2.*To3+ch2.*¥(T03.72)+dh2.*(T0o3.M3);
end

deltaH3=(HL1o03- HL1i3)

Q3=ML.*deltaH3;

QL3=Q3/3600; % j/s=watt

VG3=((Qrad3+Qconv3+QL3-Qout)/(cvnet-zarib3));% m”3/s
uVG3=((uQrad3+uQconv3+QL3-uQout)/(cvnet-zarib3));% m"3/s

VGh3=VG3*3600;

uVGh3=uVG3*3600;

MG3=10g*VGh3;

uMG3=rog*uVGh3;

MG3;

VGh3;

% result

%% balance for combustion product in zone4;

z4tg=1473;t=850;
z4t1=1360;z412=1360;z4t3=1360;z4t4=1360;z4t5=(1100+273+273+900)/2;z4t6=1360;

% for GS from s to g:
z4sgl=(((b11+b21.*¥24t1)*GiSjk1(1,1)+(b12+b22.*z4t1)*GiSjk2(1,1)+(b13+b23.*z4t1)*
GiSjk3(1,1))).*s.*(z4t1.74);% j/s
z4sg2=(((b114+b21.*z4t2)*GiSjk1(1,2)+(b12+b22.*¥z4t2)*GiSjk2(1,2)+(b13+b23 . *z4t2)*
GiSjk3(1,2))).*s.*(z4t2.74);% j/s
z4sg3=(((b11+b21.*¥24t3)*GiSjk1(1,3)+(b12+b22.¥z4t3)*GiSjk2(1,3)+(b13+b23.*74t3)*
GiSjk3(1,3))).*s.*(z4t3.74);% j/s
z4sg4=(((b114+b21.¥z4t4)*GiSjk1(1,4)H(b12+b22.*24t4)*GiSjk2(1,4)+(b13+b23.*z4t4)*
GiSjk3(1,4))).*s.*(z4t4.74);% j/s

udsgl=(((b11+b21.*¥z4t1)*GiSjuk1(1,1)+(b12+b22 *z4t1)*GiSjuk2(1,1)+(b13+b23.*z4t
1)*GiSjtl)).*s.*(z4t1.74);% j/s
u4sg2=(((b11+b21.*¥z4t2)*GiSjuk1(1,2)+(b12+b22.*z4t2)*GiSjuk2(1,2)+(b13+b23.*z4t
2)*GiSjt2)).*s.*(z412.74);% j/s
u4sg3=(((b11+b21.*¥z4t3)*GiSjuk1(1,3)+(b12+b22.*¥z4t3)*GiSjuk2(1,3)+(b13+b23.*z4t
3)*GiSjt3)). *s.*(z4t3./4);% j/s
udsgd=(((b11+b21.*¥z4t4)*GiSjuk1(1,4)+(b12+b22.*z4t4)*GiSjuk2(1,4)+(b13+b23.*z4t
4)*GiSjtd)).*s. *(z4t4.74);% j/s

z4gs1=(((b11+b21.*24tg)*GiSjk1(1,1)+(b12+b22.*z4tg)*GiSjk2(1,1)+(b13+b23.*z4tg)*
GiSjk3(1,1))).*s.*(z4tg.4);% j/s
z4gs2=(((b11+b21.*24tg)*GiSjk1(1,2)+(b12+b22.*24tg)*GiSjk2(1,2)+(b13+b23.*z4tg)*
GiSjk3(1,2))).*s. *(z4tg. 4);%j/s
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24gs3=(((b11+b21.*z4tg)*GiSjk1(1,3)+(b12+b22.*¥24tg)*GiSjk2(1.3)+(b13+b23.*z41g)*
GiSjk3(1.3))).*s. *(z4tg. ) %jls
z4gs4=(((b11+b21.*24tg)*GiSjk1(1,4)+(b12+b22.*z41g)* GiSjk2(1,4)+(b1 3+b23 *z4tg)*
GiSjk3(1,4))).*s. *(zdtg. ) %j/s

udgs1=(((b11+b21.*¥z4tg)*GiSjuk1(1,1)+(b12+b22.*z4tg) *GiSjuk2(1,1)+(b13+b23.*z4t
g2)*GiSjtl)).*s.*(z4tg.”4);% j/s
udgs2=(((b11+b21.*z4tg)*GiSjuk1(1,2)+(b12+b22.*z4tg)*GiSjuk2(1,2)+(b13+b23.*z4t
g)*GiSjt2)).*s.*(z4tg."4);%j/s
udgs3=(((b11+b21.*z4tg)*GiSjuk1(1,3)+(b12+b22.*z4tg)*GiSjuk2(1,3)+(b13+b23.*z4t
2)*GiSjt3)).*s.*(z4tg.”4);%;j/s
udgsd=(((b11+b21.*z4tg)*GiSjuk1(1,4)+(b12+b22.*z4tg) *GiSjuk2(1,4)+(b13+b23.*¥z4t
g2)*GiSjtd)).*s. *(z4tg."4);%j/s

%sumation of parameters:
z4AFGS=z4gs1+z4gs2+z4gs3+z4gs4+z4gs5+z4gs6;
Z4FSG=z4sgl+z4sg2+z4sg3+z4sgd+z4sg5+74sg6;
Qrad4=abs(z4FGS-z4FSG);% j/s=watt

udFGS=u4gsl+udgs2+udgs3+udgs4+udgs5+udgso;
u4FSG=u4sgl+udsg2+udsg3+udsgd+udsg5+udsg6;
uQrad4=abs(u4FGS-u4FSG);% j/s=watt

h4=10; %

Qconv4=A1.*¥h4 *(z4tg-z4t1)+A2.*h4.*(z4tg-z412)+A3.*h4.*(z4tg-
z4t3)+A4.¥h4.*(z4tg-z4t4)+AS *h4 *(z4tg-z415)+A6.¥h4 . *(z4tg-z416);
Qconv4;

uQconv4=Aul.*h4.¥(z4tg-z4t1)+Au2.*h4.*(z4tg-z4t2)+Au3.*h4 . *(z4tg-
z4t3)+Au4.*hd.*(z4tg-z4t4)

uQconv4;

uconload4=Au5.*h.*(z4tg-z4t5);

% for combustion:

Rs=9.76;

ps=10.785;

rog=0.719;

cvnet=34.91*1016;% j/(m"3);

% Qg:

z4=(z4tg-1400)./200;
Hg4=(1.399+0.28089.*z4+0.004526.*z4.72+0.000402.*24.73+0.000224 .*z4.~4+0.00002
3. %24 ~A5)*10°6);% j/kg
zarib4=Hg4.*0.7. *(ps+0.2.*Rs);%j/m"3
%QGen=(VG*cvnet)/3600;

% for load:

Ti4=900;To4=1100;

if Ti4<=(800)
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HL1i4=ahl+bhl.*Ti4+chl.*(Ti4.72)+dh1.*(Ti4."3)+eh.*(Ti4."4)+th1.*(Ti4.75);
else
HIL1i14=ah2+bh2 *Ti4+ch2.*(Ti4.”2)+dh2.*(Ti4.73);
end
if To4<=(800)
HILlo4=ahl+bhl.*To4+chl.*(To4.2)+dhl.*(To4./3)+eh.*(To4."4)+thl.*(To4.75);
else
HILlo4=ah2+bh2.*To4+ch2.*(To4./2)+dh2.*(To4."3);
end
deltaH4=(HL104- HL1i4)
Q4=ML.*deltaH4;
QL4=Q4/3600; % j/s=watt

VG4=((Qrad4+Qconv4+QL4-Qout)/(cvnet-zarib4));% m”"3/s
VGh4=VG4*3600;
uVG4=((uQrad4+uQconv4+QL4-Qout)/(cvnet-zarib4));% m”"3/s
uVGh4=uVG4*3600;

MG4=rog*VGh4;
uMG4=rog*uVGh4;

MG4;
VGh4,

%% balance for combustion product in zone4;

z5tg=1573;t=850;
z5t1=1500;z5t2=1500;z5t3=1500;25t4=1500;z5t5=(1200+273+1100+273)/2;25t6=1500;
z5gs1=(((b11+b21.*¥z5tg)*GiSjk1(1,1)+(b12+b22.*25tg)*GiSjk2(1,1)+(b13+b23 *z5tg)*
GiSjk3(1,1))).*s.*(z5tg."4);% j/s
z5gs2=(((b11+b21.*z5tg)*GiSjk1(1,2)+(b12+b22.*z5tg)*GiSjk2(1,2)+(b13+b23 *z5tg)*
Gi1Sjk3(1,2))).*s.*(z5tg."4);%j/s
z5gs3=(((b11+b21.*z5tg)*GiSjk1(1,3)+Hb12+b22.*z5tg)*GiS)k2(1,3)+(b13+b23.*z5tg)*
GiSjk3(1,3))).*s.*(z5tg."4);%j/s
z5gs4=(((b11+b21.*z5tg)*GiSjk1(1,4)+(b12+b22.*z5tg)*GiSjk2(1,4)+(b13+b23.*z5tg)*
GiSjk3(1,4))).*s.*(z5tg."4);%j/s
z5gs5=(((b11+b21.*z5tg)*GiSjk1(1,5)+(b12+b22.*z5tg)*GiSjk2(1,5)+(b13+b23 . *z5tg)*
GiSjk3(1,5))).*s.*(z5tg.~4);%j/s
z5gs6=(((b11+b21.*z5tg)*GiSjk1(1,6)+(b12+b22.*z5t2)*GiSjk2(1,6)+(b13+b23.*z5tg)*
GiSjk3(1,6))).*s.*(z5tg."4);%j/s

uSgs1=(((b11+b21.*z5tg)*GiSjuk1(1,1)H(b12+b22.*25tg)*GiSjuk2(1,1)+(b13+b23.*z5t
2)*GiSjtl)). *s.*(z5tg."4);% j/s
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u5§52;(((b1i+z21.*zStg)*GiSjukl(l,2)+(b12+b22.*zStg)*GiSjuk2(1,2)+(b13+b23.*25t
2)*GiSjt2)).*s. *(z5tg.4);%;j/s
u)5g53=(((b1i+b21.*zStg)*GiSjukl(l,3)+(b12+b22.*25tg)*GiSjuk2(1,3)+(b13+b23.*25t
g)*GiSjt3)).*s. *(z5tg."4);%;j/s
uSgs4=(((b11+b21.*z5tg)*GiSjuk1(1,4)+(b12+b22.*z5tg)*GiSjuk2(1,4)+(b13+b23.*¥z5t
2)*GiSjtd)).*s. *(z5tg."4);%j/s

% for GS from s to g:

z5sg1=(((b114+b21.*¥z5t1)*GiSjk1(1,1)+(b12+b22.*25t1)*GiSjk2(1,1)+(b13+b23.*¥25t1)*
GiSjk3(1,1))).*s.*¥(z5t1.74);% j/s
25sg2=(((b11+b21.*¥25t2)*GiSjk1(1,2)+(b12+b22.*25t2)*GiSjk2(1,2)+(b13+b23.*z5t2)*
GiSjk3(1,2))).*s.*(25t2.74);% j/s
z5sg3=(((b11+b21.*¥z5t3)*GiSjk 1(1,3)+(b12+b22.*¥25t3)*GiSjk2(1,3)+H(b13+b23.*25t3)*
GiSjk3(1,3))).*s.*(z5t3.74);% j/s
25sgd4=(((b114+b21.*¥z5t4)*GiSjk1(1,4)+(b12+b22.*25t4)*GiSjk2(1,4)+(b13+b23.*¥z5t4)*
GiSjk3(1,4))).*s.*(z5t4.74);% j/s

uSsgl=(((b11+b21.*z5t1)*GiSjuk1(1,1)+(b12+b22.*25t1)*GiSjuk2(1,1)+(b13+b23.*z5t
1)*GiSjt1)).*s.*(z5t1.4);% /s
uSsg2=(((b11+b21.*25t2)*GiSjuk1(1,2)+(b12+b22.*z5t2)*GiSjuk2(1,2)+(b 13+b23 .*z5t
2)*GiSjt2)).*s. X(z5t2.4);% i/s
uSsg3=(((b11+b21.#25t3)*GiSjuk1(1,3)+(b12+b22.*z5t3)*GiSjuk2(1,3)+(b13+b23.*z5t
3)*GiSjt3)).*s.*(25t3.24);% j/s
uSsgd=(((b11+b21.¥25t4)*GiSjuk1(1,4)+(b12+b22.*25t4)*GiSjuk2(1,4)+(b13+b23.*z5t
4)*GiSjtd)).*s. X(z5t4.4);% j/s

%sumation of parameters:
z5FGS=z5gs1+z5gs2+z5gs3+z5gs4+z5gs5+z5gs0;
zSFSG=z5sgl+z5sg2+25s5g3+255g4+z5sg5+25sg6;
Qrad5=abs(zSFGS-zSFSG); % j/s=watt
uSFGS=uSgsl+uSgs2+uSgs3+uSgs4+uSgsS+udgso6;
uSFSG=uSsgl+uSsg2+uSsg3+uSsgd+uSsg5-+uSsgo;
uQradS=abs(uSFGS-uSFSG);% j/s=watt

h5=10; %

Qconv5=A1.*%h5.*(z5tg-z5t1)+A2.*h5 *(z5tg-z512)+A3 . *hS *(z5tg-
z5t3)+A4.*¥h5.*(z5tg-z5t4)+AS.*h5 . *(25tg-z5t5)+A6.¥h5. *(z5tg-25t6);
Qconvs;

uQconv5=Aul.*hS *(z5tg-z5t1)+Au2.*h5.*(z5tg-z5t2)+Au3. *h5.*(z5tg-
25t3)+Aud . *¥hS. *¥(z5tg-z5t4)+AuS.*hS. *(z25tg-z5t5)+Aub.*hS *(z5tg-z5t6);
uQconvy;

% for combustion:

Rs=9.76;
ps=10.785;
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rog=0.719;
cvnet=34.91*10"6;% j/(m"3);
% Qg:
75=(z4tg-1400)./200;
Hg5=(1.399+0.28089.*25+0.004526.*25.22+0.000402.*25.73+0.000224.*25.74+0.00002
3.*25.75)*107(6);% j/’kg
zarib5=Hg5.*0.7.*(ps+0.2.*Rs);%j/m"3
%QGen=(VG*cvnet)/3600;
% for load:
Ti5=1100;To5=1200;
if Ti5<=(800)
HL1i5=ah1+bhl.*Ti5+ch1.*(Ti5./2)+dh1.*(Ti5.A3)+eh.*(Ti5.”4)+th1.*(Ti5.%5);
else
HL1i5=ah2+bh2.*Ti5+ch2.*(Ti5./2)+dh2.*(Ti5./3);
end
if To5<=(800)
HL1lo5=ah1+bh1.*To5+ch1.*(T05.2)+dh1.*(To5./3)+eh.*(To5.”4)+fh1.*(T05.5);
else
HL1lo5=ah2+bh2.*To5+ch2.*(To5./2)+dh2.*(To5."3);
end
deltaHS5=(HL105- HL115)
Q5=ML.*deltaHS5;
QL5=Q5/3600; % j/s=watt

VG5=((Qrad5+Qconv5+QL5-Qout)/(cvnet-zarib5)); % m”"3/s
VGh5=VG5*3600;
uVGS5=((uQrad5+uQconv5+QL5-Qout)/(cvnet-zarib5));% m”"3/s
uVGh5=uVG5*3600;

MGS5=rog*VGhS5;
uMGS5=rog*uVGhS5;

MGS;

VGhS;

zonel=[MG1 uMGl1]
zone2=[MG2 uMG2]
zone3=[MG3 uMG3]
zone4=[MG4 uMG4]
zone5=[MGS5 uMG5]

%zonel=[ MG1 VGI1*cvnet Qrad]l Qconvl QL1 VG1*cvnet-(Qrad1+Qconvl)]
%zone2=] MG2 VG2*cvnet Qrad2 Qconv2 QL2 VG2*cvnet-(Qrad2-+Qconv2)]
%zone3=[ MG3 VG3*cvnet Qrad3 Qconv3 QL3 VG3*cvnet-(Qrad3+Qconv3)]
%zoned=[ MG4 VG4*cvnet Qrad4 Qconv4 QL4 VG4*cvnet-(Qrad4+Qconv4)]
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%zoneS=[ MG3 VG5*cvnet QradS QconvS QLS VG5*cvnet-(Qrad5+Qconv3)]
% calculate the radiation and convection:

% for zone 1:

nl=10;

time=3600;

tc5=300;
f=300*ones(1,400);
gstep=zeros(1,nl);
qconstep=zeros(1,nl);
TSL1=zeros(1,nl);
TCL1=zeros(1,nl);
for wl=1:nl

%f=tc5*ones(1,400)
t1=linspace((w1-1)*(time/nl),w1*(time/n1),10);
tg=873;
tc1=720;tc2=720;tc3=720;tc4=720;tc6=720;
if te5==tcl
qrad5=0

end
us1sS=((b11+b21.*tc1)*SiSjuk1(1,5)+(b12+b22.*tc1)*SiSjuk2(1,5)+b13+b23.*tc1)*SiS
Jk3(1,5)).*s*(tc14);% j/s
us2s5=((b11+b21.*¥tc2)*SiSjuk1(2,5)+(b12+b22.*tc2)*SiSjuk2(2,5)+Hb13+b23.*tc2)*SiS
7k3(2,5)).*s*(tc2"4);% j/s
us3s5=((b11+b21.*tc3)*SiSjuk1(3,5)+(br12+b22.*tc3)*SiSjuk2(3,5)+(b13+b23.*tc3)*SiS
Jk3(3,5)).*s*(tc3"4);% j/s
us4s5=((b11+b21.*tc4)*SiSjuk1(4,5)+(b12+b22.*tc4)*SiSjuk2(4,5)+(b13+b23.*tc4)*SiS
7k3(4,5)).*s*(tc4"4);% j/s
%usSs5=((b11+b21.*tc5)*SiSjuk1(5,5)+(b12+b22.*tc5)*SiSjuk2(5,5)Hb13+b23.*tc5)*S
15jk3(5,5)).*s*(tc5%4);% j/s

ugs5=((b11+b21.*tg)*GiSjuk1(1,5)Hb12+b22 *1g)*GiSjuk2(1,5)+(b13+b23.*1g) *GiSjt5
)-¥s*(1g™4),% j’s

qrad5=(us1s5+us2s5+us3s5+us4s5)+tugsS-(AuS.*e5*s*tc574);% j/s
sharzl=qradS/(AuS);% w/m"2

% convection heat transfer:

hzonl=12;

qconS=hzon1*{tg-tc5);% j/s

qtotal=(sharz1l+(gconS5));

% f=input('Give Initial Condition =");

=400;
T=zeros(length{tl),m);
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say=T;
k=80.2;
Cp=447;
rou=7870;
alpha=2.28E-5;
r0=0.2;
q=qtotal;
r=linspace(0,ro,m);
PHI=q*r.*2/(2*ro*k);
load bank
for i=1:length(RJ1);
landa(i)=RJ1(i)/ro;
surat=trapz(r,(f-PHI).*r.*besselj(0,landa(i) *r));
makhraj=trapz(r,r.*(besselj(0,landa(i)*r)).”2);
a(i)=surat/makhraj;
end
G=2*q*t1/(rou*Cp*ro0);
h=waitbar(0, Please wait...");
for j=1:length(t1)
for p=1:length(r)
U=0;
for i=1:length(a)
U=U-+a(i)*besselj(0,landa(i)*r(p))*exp(-alpha*landa(i)*2*t1(j));
end
say(j,p)=U;
end
waitbar(j/length(t1),h);
end
for j=1:length(t1)
for p=1:length(r)
T(j,p)=say(j,p)*+PHI(p)+G(j);
end
end
close(h);
=T(n1,:);
tc5=T(n1,400),
tcen5=T(n1,1);
gstep(1,w1)=grads;
qconstep(1,w1)=qconS;
TSL1(1,w1)=teS;
TCL1(1,w1)=tcen?;
end
TSL1(1,:)
T(n1,400)
clear XY
% T Ts=input('Give Temperature Profile =");
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theta=linspace(0,2*pi,360):
clear XY
%Ts=input('Give Temperature Profile =");
Ts=T(nl,:)
for i=1:length(r)
for j=1:360;
X(1,j)=1(i).*cos(theta(j));
Y (1,))=r1(1). *sin(theta(j));
Tplot(1,j)=Ts(i);
end
end
% Tplot(1,:)=300;
surf(X,Y,Tplot);
view(2);
shading interp
axis equal
colorbar
title(\fontname {areal } \fontsize{ 14} Temperature Distribution (K)');
% for zone 2:
n2=10;
t2¢5=T(n1,400);
time=3600;
%tc5=300;
2=T(nl,:);
gstep2=zeros(1,n2);
qconstep2=zeros(1,n2);
TSL2=zeros(1,n2};
TCL2=zeros(1,n2);
for w2=1:n2

%f=tc5*ones(1,400)

t2=linspace((w2-1)*(time/n2),w2*(time/n2),n2);
z22tg=1123;
%z2t1=1050;
z2t2=1050;z2t3=1050;z2t4=1050;%2z2t5=(650+273+273+400)/2;z2t6=1050;
if t2¢5==2212

q2rad5=0

end
%u2s1s5=((b11+b21.*tc1)*SiSjuk1(1,5)+(b12+b22 *tc1)*SiSjuk2(1,5)+(b13+b23.*tc1)*
SiSjk3(1,5)).*s*(tc1°4);% j/s
u2s2s5=((b11+b21.*2212)*SiSjuk1(2,5)+(b12+b22.*22t2)*SiSjuk2(2,5)+(b13+b23.*22t2
)*SiSjk3(2,5)).*s*(22t2"4);% j/s
u2s3s5=((b11+b21.*¥22t3)*SiSjuk1(3,5)+(b12+b22.*¥z2t3)*SiSjuk2(3,5)+(b13+b23.*¥22t3
)*SiSjk3(3,5)).*s*(22t3"4);% j/s
u2s4s5=((b11+b21.*¥22t4)*SiSjuk 1(4,5)+(b12+b22.*z2t4)*SiSjuk2(4,5)+(b13+b23.*z2t4
)*S1S5jk3(4,5)).*s*(22t4"4);% j/s
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%u2s5s5=((b11+b21.*tc5)*SiSjuk 1(5,5)+H(b12+b22.*tc5)*SiSjuk2(5,5)+(b13+b23 *tc5)*
SiSjk3(5,5)).*s*(tc574):% i/s

u2gsS=((b11+b21.*¥22tg)*GiSjuk1(1,5)Hb12+b22 *z2tg)*GiSjuk2(1,5)+(b13+b23.*z2tg
Y*GiSjtS). *s*(z2tg™4);% j/s

q2rad5=(u2s2s5+u2s3s5+u2sdsS)+u2gsS-(AuS.*e5*s*t2¢5™4),% j/s
sharz2=q2rad5/(AuS5);% w/m”"2

% convection heat transfer:

hzon2=12;

q2con5=hzon2*(z2tg-t2¢c5);% j/s

qtotal2=(sharz2+(q2con5));

g2=qtotal2;
r=linspace(0,ro,m);
PHI2=q2*r.”2/(2*ro*k);
load bank
for i=1:length(RJ1);
landa(i)=RJ1(i)/ro;
surat=trapz(r,(f2-PHI2).*r.*besselj(0,landa(i)*1));
makhraj=trapz(r,r.*(besselj(0,landa(i)*r)).”2);
a(i)=surat/makhraj;
end
G2=2*q2*t2/(rou*Cp*ro);
h=waitbar(0, Please wait..."),
for j=1:length(t2)
for p=1:length(r)
U=0;
for i=1:length(a)
U=U+a(i)*besselj(0,landa(i)*r(p))*exp(-alpha*landa(1)*2*t2(3));
end
say(j,p)=U;
end
waitbar(j/length(t2),h);
end
for j=1:length(t2)
for p=1:length(r)
T2(;,p)=say(j,p)PHI2(p)+G());
end
end
close(h);
2=T2(n2,:);
t2¢5=T2(n2,400);
tcen2=T2(n2,1);
gstep2(1,w2)=q2rad5;
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qconstep2(1,w2)=q2con5;
TSL2(1,w2)=t2c5;
TCL2(1,w2)=tcen2;
end

TSL2(1,:)

T2(n2,400)

% for zone 3:

n3=10;
t3¢5=T2(10,400);
time=3600;

%tc5=300;
£3=T2(10,:);
gstep3=zeros(1,n3);
qconstep3=zeros(1,n3);
TSL3=zeros(1,n3);
TCL3=zeros(1,n3);

for w3=1:n3

Y%f=tc5*ones(1,400)

t3=linspace((w3-1)*(time/n3),w3*(time/n3),10);
z3tg=1323;
23t2=1220;2z3t3=1220;23t4=1220;%22t5=(650+273+273+400)/2;22t6=1050;
if t3¢c5==z312

q3rad5=0

end
%u2s1s5=((b11+b21.*tc1)*SiSjuk1(1,5)+(b12+b22.*tc1)*SiSjuk2(1,5)+(b13+b23.*1c1)*
SiSjk3(1,5)).*s*(tc174);% j/s
u3s2s5=((b11+b21.*¥23t2)*SiSjuk1(2,5)+(b12+b22.*¥23t2)*SiSjuk2(2,5)+(b13+b23.*¥z3t2
)*SiSjk3(2,5)).*s*(23t2"4);% j/s
u3s3s5=((b11+b21.*z3t3)*SiSjuk1(3,5)+(b12+b22.*¥23t3)*SiSjuk2(3,5)Hb13+b23.*¥23t3
)*¥SiSjk3(3,5)).*s*(231t34);% j/s
u3s4s5=((b11+b21.*2z3t4)*SiSjuk1(4,5)+(b12+b22.*z3t4)*SiSjuk2(4,5)+(b13+b23.*23t4
)*SiSjk3(4,5)).*s*(23t4"4);% j/s
%u2s5s5=((b11+b21.*tc5)*SiSjuk1(5,5)+(b12+b22.*tc5)*SiSjuk2(5,5)+(b13+b23.*tc5)*
SiSjk3(5,5)).*s*(tc5"4);% j/s

u3gss=((b11+b21.*23tg)*GiSjuk1(1,5)+(b12+b22.*23tg)*GiSjuk2(1,5)+(b13+b23 *z3tg
)*GiSjt5).*s*(23tg4):% j/s

q3rad5=(u3s2s5+u3s3s5+u3s4sS)+udgsS-(AuS.*eS5*s*t3c¢5%4);% j/s
sharz3=q3rad5/(Au5);% w/m”2

% convection heat transfer:

hzon3=12;

g3con5=hzon3*(z3tg-t3¢5);% j/s

qtotal3=(sharz3+(q3conS5));
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g3=qtotal3;
r=linspace(0,ro,m);
PHI3=q3*r."2/(2*ro*k);
load bank
for i=1:length(RJ1);
landa(i)=RJ1(i)/ro;
surat=trapz(r,(f3-PHI3).*r.*besselj(0,landa(i)*r));
makhraj=trapz(r,r.*(besselj(0,landa(i)*r)).*2);
a(i)=surat/makhraj;
end
G3=2*q3*t3/(rou*Cp*ro);
h=waitbar(0, Please wait...");
for j=1:length(t)
for p=1:length(r)
U=0;
for i=1:length(a)
U=U+a(i)*besselj(0,landa(i)*r(p))*exp(-alpha*landa(i)*2*t3(j));
end
say(j,p)=U;
end
waitbar(j/length(t3),h);
end
for j=1:1length(t3)
for p=1:length(r) »
T3(,p)=say(,p)+PHI3(p)+G();
end
end
close(h);
£3=T3(10,:);
t3c5=T3(10,400);
tcen3=T3(10,1);
gstep3(1,w3)=q3rad5;
geonstep3(1,w3)=q3con5;
TSL3(1,w3)=t3c5;
TCL3(1,w3)=tcen3;
end

% for zone 4:
n4=10;
t4c5=T3(10,400);
time=3600;
%tc5=300;
f4=T3(10,);
gstep4=zeros(1,n4);
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qconstep4=zeros(1,n4);
TSL4=zeros(1,n4);
TCL4=zeros(1,n4);

for w4=1:n4

%f=tc5*ones(1,400)

t4=linspace((w4-1)*(time/n4),w4*(time/n4),10);

z4tg=1473;
z4t2=1360;z4t3=1360;z4t4=1360;%2z2t5=(650+273+273+400)/2;z2t6=1050;
if t4cS5==7412

gdrad5=0
end
%u2s1s5=((b11+b21.*tc1)*SiSjuk1(1,5)+(b12+b22.*tc1)*SiSjuk2(1,5+(b13+b23 *tc1)*
S15jk3(1,5)).*s*(tc1"4);% j/s
uds2s5=((b11+b21.*24t2)*S1Sjuk 1(2,5)+(b12+b22.*z41t2)*SiSjuk2(2,5)+(b13+b23.*24t2
)*SiSjk3(2,5)).*s*(z4124);% j/s
u4s3s5=((b11+b21.*¥z413)*SiSjuk 1(3,5)+(b12+b22.*2413y*SiSjuk2(3,5)H(b13+b23.*z4t3
)*SiSjk3(3,5)). *s*(z4t34);% j/s
u4s4s5=((b11+b21.*¥z4t4)*SiSjuk1(4,5)+(b12+b22.*z4t4)*SiSjuk2(4,5)+(b13+b23.*z4t4
)*SiSjk3(4,5)).*s*(z414"4);% j/s
%u2s5s5=((b11+b21.*tc5)*SiSjuk1(5,5)+(b12+b22.*tc5)*SiSjuk2(5,5)+H(b13+b23 *tc5)*
SiSjk3(5,5)).*s*(tc574);% j/s

udgs5=((b11+b21.*z4tg)*GiSjuk1(1,5)+(b12+b22.*z4tg)*GiSjuk2(1,5)+(b13+b23.*z4tg
)*GiSjtS). *s*(z4tg"4);% j/s

gdrad5=(u4s2s5+uds3sS+udsdsS)tudgsS-((AuS). *eS*s*t4c574);% j/s
sharz4=q4rad5/(AuS);% w/m”"2

% convection heat transfer;

hzon4=12;

g4conS=hzond*(z4tg-t4c5);% j/s

gtotal4=(sharz4-+(g4conS5));

g4=qtotal4;

r=linspace(0,ro,m);

PHI4=q4*r.”2/(2*ro*k);

load bank

for i=1:length(RJ1);
landa(i)=RJ1(1)/ro;
surat=trapz(r,(f4-PHI4).*r. *besselj(0,landa(i)*r));
makhraj=trapz(r,r.*(besselj(0,landa(i)*r))."2);
a(i)=surat/makhraj;

end

G4=2*g4*t4/(rou*Cp*ro);
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h=waitbar(0.'Please wait...");
for j=1:length(t)
for p=1:length(r)
U=0;
for i=1:length(a)
U=U+a(i)*besselj(0,landa(i)*r(p))*exp(-alpha*landa(i)"2*t4(j));
end
say(j,p)=U;
end
waitbar(j/length(t4),h);
end
for j=1:length(t4)
for p=1:length(r)
T4(j,p)=say(j,p)*PHI4(p)+G();
end
end
close(h);
f4=T4(10,%);
t4c5=T4(10,400);
tcen4=T4(10,1);
gstep4(1,w4)=q4rads;
qconstep4(1,w4)=qg4cons;
TSL4(1,w4)=t4cS;
TCL4(1,w4)=tcend;
end
% for zone 5:
ns5=10;
t5¢5=T4(10,400);
time=3600;
%tc5=300;
£5=T4(10,:);
gstep5=zeros(1,n5);
gconstepS=zeros(1,n5);
TSLS5=zeros(1,n5);
TCL5=zeros(1,n5);
for w5=1:n5

Y%f=tc5*ones(1,400)

tS=linspace((w3-1)*(time/nS),w5*(time/nS),10);
25tg=1573;
z5t2=1500;z5t3=1500;25t4=1500;%22t5=(650+273+273+400)/2;z2t6=1050;
if tSc5==2512
q5rad5=0
end
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%u2s1s5=((b11+b21.*tc1)*SiSjuk1(1,5)+(b12+b22.*tc1)*SiSjuk2(1,5)+(b13+b23.*tc 1)*
SiSjk3(1,5)).*s*(tc174);% j's

uSs2s5=((b1 1+b21.*¥25t2)*SiSjuk 1(2,5)+(b12+b22.*25t2)*SiSjuk2(2,5)+(b 13+b23.*25t2
)*SiSik3(2,5)).*s*(z5t2°4);% j/s
uSs3s5=((b11+b21.¥25t3)*SiSjuk1(3,5)+(b12+b22.*25t3)*SiSjuk2(3,5)+(b13+b23.*25t3
)*SiSjk3(3,5)). *s*(z5t3"4);% j/s
uSs4s5=((b11+b21.*25t4)*SiSjuk1(4,5)+(b12+b22.*25t4)*SiSjuk2(4,5)+(b13+b23.*25t4
)*SiSik3(4,5)). *s*(25t4°4);% /s

%u2s5s5=((b11+b21.*¥tc5)*SiSjuk 1(5,5)+(b12+b22.*tc5)*SiSjuk2(5,5)+(b 13+b23 . *tc5)*
SiSik3(5,5)).*s*(tc54);% j/s

uSgsS5=((b11+b21.*z5tg)*GiSjuk1(1,5)+(b12+b22.*25tg)*GiSjuk2(1,5)+(b13+b23.*z5tg
Y*GiSjts). *s*(z5tg"4);% j/s

qSrad5=(u5s2s5+usSs3s5+uSsdsS)tusSgsS-(Aus.*eS*s*t5¢574);% j/s
sharz5=qSrad5/(AuS);% w/m”2
% convection heat transfer:
hzon5=12;
qSconS=hzon5*(z5tg-t5¢5);% j/s
qtotal5=(sharz5+(q5con9));
gd5=qtotals;
r=linspace(0,ro,m);
PHIS=q5*r.”2/(2*r0*k);
load bank
for i=1:length(RJ1);
landa(i)=RJ1(i)/ro;
surat=trapz(r,(f5-PHIS).*r.*besselj(0,landa(i)*1));
makhraj=trapz(r,r.*(besselj(0,landa(i)*r)).*2);
a(i)=surat/makhraj;
end
G5=2*q5*t5/(rou*Cp*ro);
h=waitbar(0,'Please wait...");
for j=1:length(t)
for p=1:length(r)
U=0;
for i=1:length(a)
U=U-+a(i)*besselj(0,landa(i)*r(p))*exp(-alpha*landa(i)"2*t5(j));
end
say(j,p)=U;
end
waitbar(j/length(t5),h);
end
for j=1:length(t5)
for p=1:length(r)
ESG ;p)=say(j,p)+PHI5(p)+G();
en
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end

close(h);

£5=T5(10,:);
t5¢5=T5(10,400);
tcenS5=T5(10,1);
gstep5(1,w5)=q5rad5;
gconstepS(1,wS5)=qS5con5;
TSL5(1,w5)=t5cS;
TCLS5(1,w5)=tcen5;

end
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